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A0 O 1|ATE KisEEH HO7 30 4 | R13.12.31 | BEFE |AHtRret b H14.01.01 [ &%
A0 O 1|ATE KisZEEH HO8 30 4 | R13.12.31 | BEFE | AHtRret b H14.01.01 [ &%
A0 O 1|ATE KisEEH HO09 30 4 | R13.12.31 | BEFE |AHtRret b H14.01.01 [ &%
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A0 0| 1 |AFF4E X %% H22 30 4F | R22.12.31 | FEEE |Aifsrtioh H23.01.01 | &
Al 0 0 1 [A7T % Kos SR H23 30 4F [ R23.12.31 | BEHE |Adffsretoh H24.01.01 | #&




R E A n B wrmmpy | LS e | 7200 | RS RILD
Al0 0 1|ATE KisZEEH H24 30 4F | R24.12.31 | BEZE |AsReveaob| H24.01.01 | H25.01.01 | #%
Al 0 O 1|ATE KisEEH H25 30 4F | R25.12.31 | BEZE |AstReveaob| H25.01.01 | H26.01.01 | #%
Al0 O 1|ATE KisEEH H26 30 4F | R26.12.31 | BEZE |A#tReveaob| H26.01.01 | H27.01.01 | #%
Al0 0 1|ATE KisZEEH H27 30 4F | R27.12.31 | BEZE |Aseveaob| H27.01.01 | H28.01.01 |  #%
Al0 0 1|ATE KisEEH H28 30 4F | R28.12.31 | BEZE |AstReveaob| H28.01.01 | H29.01.01 |  #%
A0 O 1|ATE KisEEH H29 30 4E | R29.12.31 | pezE |astgrveaob]| H29.01.01 | H30.01.01 | #%
A0 O 1|ATE KisZEEH H30 30 £ | R30.12.31 | pezE |[astgrveaob]| H30.01.01 | H31.01.01 | #%
A0 O 1|ATE KisEEH RO1 30 £ | R31.12.31 | peZE |astgrveaob| H31.01.01 | R02.01.01 | %%
A0 O 1|ATE KisZEEH R02 30 4E | R32.12.31 | pEzE |astgrveob]| R02.01.01 | R03.01.01 | #%
A0 O 1|ATE KisZEEH RO3 30 4E | R33.12.31 | pEzE |astgsveaob| R03.01.01 | R04.01.01 | %%
A0 O 1|ATE KisZEEH RO4 30 4F | R34.12.31 | BEZE |Atreve k| R04.01.01 | R05.01.01 | #%
A0 0 1 [A7T % Kos R RO5 30 4£ | R35.12.31 | pE#E |asgsreob| R05.01.01 | R06.01.01 | #%
A0 0 1 [A7T % Kos R R06 30 4E | R36.12.31 | pe#E |astgrreaob]| R06.01.01 | R0O7.01.01 | %%
A0 0 2 [A7T % Kom SR RO4 10 4E | R14.12.31 | BEZE |[A#twaerior| R04.01.01 | RO5.01.01 | %%
A0 0 2 [A7T % Kom SR RO5 10 4F | R15.12.31 | BEZE |[Adtmreriob| R05.01.01 [ R06.01.01 | &
A0 0 2 [A7T % Kom SR R06 10 4F | R16.12.31 | BEZE |[Adtmreriob| R06.01.01 [ RO7.01.01 [ &
A0 0 3 [A7T % Kos SR RO4 54 | R09.12.31 | FEZE [Agtweectsk| R04.01.01 | R05.01.01 | #&
A0 0 3 [A7T % Kos SR R0O5 54 | R10.12.31 | BEZE [A#stweee k| R05.01.01 | R06.01.01 |  #&
A0 0 3 [A7T % Kos SR R06 54 | R11.12.31 | BEZE [Agtwee k| R06.01.01 | RO7.01.01 |  #&
A0 0| 4 [A7T % Kos SR RO4 34 | R07.12.31 | FEZE [AHtraetash| R04.01.01 | R05.01.01 |  #&
A0 0| 4 |47 % Kos SR R0O5 34 | R08.12.31 | FEZE [AHtraetash| R05.01.01 | R06.01.01 | #&
Al 0 0| 4 [T Ros SR R06 34 | R09.12.31 | FEHE A% ah| R06.01.01 | R0O7.01.01 |  #%




R E A n B wrmmpy | LS e | 7200 | RS RILD
A[O| 1|05 |ATHE XimEEH R06 1 4F | RO7.12.31 | BEZE |Asgeressh| R06.01.01 | R0O7.01.01 | #%
Al0|5[0] 1 |flpkRaRatREE RO4 34 | R07.12.31 | BEHE [Adtmerettob| R04.01.01 | R05.01.01 |  #%
Al0|5[0] 1 |flpkRaRatREE RO5 3 4F | R08.12.31 | BEFE [Adtmeettsh| R05.01.01 | R06.01.01 | #%
Al0|5[0] 1 |flpkRaRatRERE R06 34 | R09.12.31 | BEFE [Adtmeettoh| R06.01.01 | R0O7.01.01 |  #%
Al 0|5 0]2|flupkRaRatREE R06 1 4F | RO7.12.31 | BEZE |A#ugerezob| R06.01.01 | RO7.01.01 | #&
Al 0| 5] 0| 3 |fther bk F s R06 14 | RO7.12.31 | BEZE |A#etgrresor| R06.01.01 | RO7.01.01 | #&%
Al0] 8|01 |H=EIZRE R06 1 4 | R07.12.31 | BEHE |A#Exet4sh| R06.01.01 | R07.01.01 | #&%
D| 1| 0|03 |FEDEE 546 30 4 | R13.12.31 | BEIE | A#fRdrtioh H14.01.01 [ &%
D| 1|00 3|FEDEE S47 30 4 | R13.12.31 | BEIE | A#fRdrtioh H14.01.01 [ &%
D| 1| 0|03 |FEDEE S48 30 4 | R13.12.31 | BEIHE | A#fRdrtioh H14.01.01 [ &%
D| 1|00 3|FEDEE 549 30 4 | R13.12.31 | BEIHE | A#fRdrtioh H14.01.01 [ &%
D|1[o]o]f3|fEm)miE S50 30 4 | R13.12.31 | BEIHE | A#fRdrtioh H14.01.01 [ &%
D|1[o]o]f3|fEm)miE S51 30 4 | R13.12.31 | BEIHE | A#tRartioh H14.01.01 [ &%
D|1[o]o]f3|fEm)miE S52 30 4 | R13.12.31 | BEIHE | A#tRartioh H14.01.01 [ &%
D|1[o]o]f3|fEm)miE S53 30 4 | R13.12.31 | BEIHE | A#fRdrtioh H14.01.01 [ &%
D|1[o] 0|3 |fEa)miE S54 30 4 | R13.12.31 | BEIHE | A#fRdrtioh H14.01.01 [ &%
D|1|o]of3|fEa)RiE S55 30 4F | R13.12.31 | FEEE |Aifsrtioh H14.01.01 [ &%
D|1|o]of3|fEa)RiE S56 30 4F | R13.12.31 | FEEE |AHifsrtioh H14.01.01 [ &%
D|1|o]of3|fEa)RiE S57 30 4F | R13.12.31 | FEEE |AHifsrtiol H14.01.01 [ &%
D|1|o]of3|fEa)RiE S58 30 4F | R13.12.31 | FEEE |AHifsrt il H14.01.01 [ &%
D|1|o]of3|fFa)miE S59 30 4F | R13.12.31 | FEEE |Aifsrt il H14.01.01 [ &%
D|1|o]of3|fEa)mfE S60 30 4F [ R13.12.31 | BEHE |Adffsretob H14.01.01 |  #&%
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TRk

PRATHIE]
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CRAF S

T7A
YERKH

PRATHIH]
DOEHE A

561

30 4

R13.12.31

ANFARRE Ry

H14.01.01

562

30 4

R13.12.31

ANFRRE R

H14.01.01

563

30 4

R13.12.31

ANFARRE R

H14.01.01

HO1

30 4

R13.12.31

ANFRRE Ry

H14.01.01

HO2

30 4

R13.12.31

ANFRRE Ry

H14.01.01

HO3

30 4

R13.12.31

ANHRF o b

H14.01.01

HO04

30 4

R13.12.31

AHHRF o b

H14.01.01

HO5

30 4

R13.12.31

ANHRF o b

H14.01.01

HO06

30 4

R13.12.31

AHHRF o b

H14.01.01

HO7

30 4

R13.12.31

AHRF o b

H14.01.01

HO8

30 4

R13.12.31

AHHRF o b

H14.01.01

HO09

30 4

R13.12.31

ANHRF o b

H14.01.01

H10

30 4

R13.12.31

ANHRFE o b

H14.01.01

H11

30 4

R13.12.31

ANHRFE o b

H14.01.01

H12

30 4

R13.12.31

ANHRFE o b

H14.01.01

H13

30 4

R13.12.31

ANHRFE o b

H14.01.01

H14

30 4

R14.12.31

ANHfRF e b

H15.01.01

H15

30 4

R15.12.31

ANHfRF e b

H16.01.01

H16

30 4

R16.12.31

ANHFRFE b

H17.01.01

H17

30 4

R17.12.31

ANHFRFE b

H18.01.01

H18

30 4

R18.12.31

ANHFfRF v b

H19.01.01

S|0|C[O0[0]|0|0|C|C[C[O|TC]|0|C|0|C|C[OC|TC]|T|0]0
[« Nl Holl Holl Fol K=l E=l h=l Nell el el el Holl Holl =l Holl Holl Bl HoN K=l el ]
[« Nl Holl Hell Fol K=l E=1 h=h el Rell el el Holl el E=l Nl Holl Hell K=l el el ]
W W W] W] W W|WW W WlWwWlwWwlwlwlwlwlwlw|lwlw|lw]lw

H19

30 4=

R19.12.31

NFLRELE Fo b

H20.01.01
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TRk
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CRAF S

T7A
YERKH

PRATHIH]
DOEHE A

H20

30 4

R20.12.31

ANFARRE Ry

H21.01.01

H21

30 4

R21.12.31

ANFRRE R

H22.01.01

H22

30 4

R22.12.31

ANFARRE R

H23.01.01

H23

30 4

R23.12.31

ANFRRE Ry

H24.01.01

H24

30 4

R24.12.31

ANFRRE Ry

H24.01.01

H25.01.01

H25

30 4

R25.12.31

ANHRF o b

H25.01.01

H26.01.01

H26

30 4

R26.12.31

AHHRF o b

H26.01.01

H27.01.01

H27

30 4

R27.12.31

ANHRF o b

H27.01.01

H28.01.01

H28

30 4

R28.12.31

AHHRF o b

H28.01.01

H29.01.01

H29

30 4

R29.12.31

AHRF o b

H29.01.01

H30.01.01

H30

30 4

R30.12.31

AHHRF o b

H30.01.01

H31.01.01

RO1

30 4

R31.12.31

ANHRF o b

H31.01.01

R02.01.01

RO2

30 4

R32.12.31

ANHRFE o b

R02.01.01

R03.01.01

RO3

30 4

R33.12.31

ANHRFE o b

R03.01.01

R04.01.01

R0O4

30 4

R34.12.31

ANHRFE o b

R04.01.01

R05.01.01

RO5

30 4

R35.12.31

ANHRFE o b

R05.01.01

R06.01.01

RO6

30 4

R36.12.31

ANHfRF e b

R06.01.01

R07.01.01

REAR

30 4

ANHfRF e b

S50

30 4

R13.12.31

ANHFRFE b

H14.01.01

551

30 4

R13.12.31

ANHFRFE b

H14.01.01

552

30 4

R13.12.31

ANHFfRF v b

H14.01.01

S|0|C[O0[0]|0|0|C|C[C[O|TC]|0|C|0|C|C[OC|TC]|T|0]0
[« Nl Holl Holl Fol K=l E=l h=l Nell el el el Holl Holl =l Holl Holl Bl HoN K=l el ]
[« Nl Holl Hell Fol K=l E=1 h=h el Rell el el Holl el E=l Nl Holl Hell K=l el el ]
Ol |l |G| x| W ]|WWWlWlWwWlwlwlwlwlwlwlw|lwlw|lw]lw

553

30 4=

R13.12.31

NFLRELE Fo b

H14.01.01
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TRk
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CRAF S

T7A
YERKH

PRATHIH]
DOEHE A

Sh4

R13.12.31

ANFARRE Ry

H14.01.01

S5h5

R13.12.31

ANFRRE R

H14.01.01

556

R13.12.31

ANFARRE R

H14.01.01

557

R13.12.31

ANFRRE Ry

H14.01.01

558

R13.12.31

ANFRRE Ry

H14.01.01

559

R13.12.31

ANHRF o b

H14.01.01

560

R13.12.31

AHHRF o b

H14.01.01

561

R13.12.31

ANHRF o b

H14.01.01

562

R13.12.31

AHHRF o b

H14.01.01

563

R13.12.31

AHRF o b

H14.01.01

HO1

R13.12.31

AHHRF o b

H14.01.01

HO02

R13.12.31

ANHRF o b

H14.01.01

HO3

R13.12.31

ANHRFE o b

H14.01.01

HO04

R13.12.31

ANHRFE o b

H14.01.01

HO5

R13.12.31

ANHRFE o b

H14.01.01

HO06

R13.12.31

ANHRFE o b

H14.01.01

HO7

R13.12.31

ANHfRF e b

H14.01.01

HO8

R13.12.31

ANHfRF e b

H14.01.01

HO9

R13.12.31

ANHFRFE b

H14.01.01

H10

R13.12.31

ANHFRFE b

H14.01.01

H11

R13.12.31

ANHFfRF v b

H14.01.01

S|0|C[O0[0]|0|0|C|C[C[O|TC]|0|C|0|C|C[OC|TC]|T|0]0
[« Nl Holl Holl Fol K=l E=l h=l Nell el el el Holl Holl =l Holl Holl Bl HoN K=l el ]
[« Nl Holl Hell Fol K=l E=1 h=h el Rell el el Holl el E=l Nl Holl Hell K=l el el ]
aogjloajloar oo jloa|loloagjloajloaloaajloagjgloaloajloajloajloalor|or oo o

H12

R13.12.31

NFERFrE S b

H14.01.01
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TRk

PRAT I g
TH

CRAF S

T7A
YERKH

PRATHIH]
DOEHE A

H13

R13.12.31

ANFARRE Ry

H14.01.01

H14

R14.12.31

ANFRRE R

H15.01.01

H15

R15.12.31

ANFARRE R

H16.01.01

H16

R16.12.31

ANFRRE Ry

H17.01.01

H17

R17.12.31

ANFRRE Ry

H18.01.01

H18

R18.12.31

ANHRF o b

H19.01.01

H19

R19.12.31

AHHRF o b

H20.01.01

H20

R20.12.31

ANHRF o b

H21.01.01

H21

R21.12.31

AHHRF o b

H22.01.01

H22

R22.12.31

AHRF o b

H23.01.01

H23

R23.12.31

AHHRF o b

H24.01.01

H24

R24.12.31

ANHRF o b

H24.01.01

H25.01.01

H25

R25.12.31

ANHRFE o b

H25.01.01

H26.01.01

H26

R26.12.31

ANHRFE o b

H26.01.01

H27.01.01

H27

R27.12.31

ANHRFE o b

H27.01.01

H28.01.01

H28

R28.12.31

ANHRFE o b

H28.01.01

H29.01.01

H29

R29.12.31

ANHfRF e b

H29.01.01

H30.01.01

H30

R30.12.31

ANHfRF e b

H30.01.01

H31.01.01

RO1

R31.12.31

ANHFRFE b

H31.01.01

R02.01.01

RO2

R32.12.31

ANHFRFE b

R02.01.01

R03.01.01

RO3

R33.12.31

ANHFfRF v b

R03.01.01

R04.01.01

S|0|C[O0[0]|0|0|C|C[C[O|TC]|0|C|0|C|C[OC|TC]|T|0]0
[« Nl Holl Holl Fol K=l E=l h=l Nell el el el Holl Holl =l Holl Holl Bl HoN K=l el ]
[« Nl Holl Hell Fol K=l E=1 h=h el Rell el el Holl el E=l Nl Holl Hell K=l el el ]
aogjloajloar oo jloa|loloagjloajloaloaajloagjgloaloajloajloajloalor|or oo o

RO4

R34.12.31

NFERFrE S b

R04.01.01

R05.01.01




IR A S S B wrmmpy | LS e | 7200 | RS RILD
Dl1[o]0|5|HDitHEEL AR R0O5 30 4F | R35.12.31 | JEFE |A%fmrtob| R05.01.01 | R06.01.01 | %
D| 1| 0|05 |&HmiEERS AR R0O6 30 4F | R36.12.31 | BEHE |A%ffxrtaob| R06.01.01 | RO7.01.01 [ #%
D| 1|00 6| NFEZESTECER H27 10 4 | RO7.12.31 | BEZE |[Asstmreriob| H27.01.01 [ H28.01.01 | &
D| 1|00 6| NFZESTECER H28 10 4 | R08.12.31 | BEZE [Astrrrriob| H28.01.01 [ H29.01.01 | #&
D[ 1]0[0]8|fFHBEREE S45 30 4F | R13.12.31 | BEIE |AFRbrtmh H14.01.01 | #&
D|1|0] 0|8 |{EHREa%#E 546 30 4 | R13.12.31 | BEIE | A#fRdrtioh H14.01.01 [ &%
D|1]0[0]|8|{THBEIREE S47 30 4E | R13.12.31 | JBEIE | ARt i H14.01.01 | &
D|1|0] 0|8 |{EHREa%#E S48 30 4 | R13.12.31 | BEIE | A#fRdrtioh H14.01.01 [ &%
D|1|0] 0|8 |{EHREa%#E 549 30 4 | R13.12.31 | BEIE | A#fRdrtioh H14.01.01 [ &%
D|1|0] 0|8 |{EHREa%E S50 30 4 | R13.12.31 | BEIHE | A#fRdrtioh H14.01.01 [ &%
Dl 1]0[0]|8|{THBIREE S51 30 4E | R13.12.31 | JBEIE | ARt i H14.01.01 | &
D[ 1]0[0]8|{EHBERE S52 30 4F | R13.12.31 | BEZE |AHRbrtwh H14.01.01 | &
D| 1| 0[0[8|{F:HEIR#% S53 30 4 | R13.12.31 | BEIHE | A#tRartioh H14.01.01 [ &%
D|1]0[0]8 MBI S54 30 4F | R13.12.31 | BEZE |AHRbrtwh H14.01.01 | &
D|1]0[0]8 MBI S55 30 4F | R13.12.31 | BEZE |AHRtrtwh H14.01.01 | &
D| 1| 0|08 |{F:HEIR#% S56 30 4 | R13.12.31 | BEIHE | A#fRdrtioh H14.01.01 [ &%
D|1]0fo0]|8|{THBIRE S57 30 4F | R13.12.31 | BEFHE | Adtfsre b H14.01.01 | #&
D[ 1|0]|0]|8 MRk S58 30 4F | R13.12.31 | BEZE | AHRertwh H14.01.01 | &
D|1]0fo0]|8|{THBIRE S59 30 4F | R13.12.31 | BEIHE | Adetfsre b H14.01.01 | #&
D|1]0fo0]|8|{THBIRE S60 30 4F | R13.12.31 | BEIHE | Adetfsre b H14.01.01 | #&
D[ 1|0]|0]|8 MRk S61 30 4F | R13.12.31 | BEZE |AHRbrtwh H14.01.01 | &
D[ 1|0]|0]|8fEHREHR#E S62 30 4F | R13.12.31 | BEEE |AHRrtawh H14.01.01 | #%&




R E A n B wrmmpy | LS e | 7200 | RS RILD
D[ 1]0[0]8|fFEHBEREE S63 30 4F | R13.12.31 | BEFE | AFRbrth H14.01.01 | #&
D[ 1]0[0]8|fFEHBEREE HO1 30 4F | R13.12.31 | BEIE | AFRbrtmh H14.01.01 | #&
D[ 1]0[0]8|fFEHBEREE HO02 30 4F | R13.12.31 | BEIE | AFRbrtmh H14.01.01 | #&
D[ 1]0[0]8|fFHBERE HO03 30 4F | R13.12.31 | BEIE | AFRbrth H14.01.01 | #&
D[ 1]0[0]8|fFHBEREE HO4 30 4F | R13.12.31 | BEIE |AFRbrtmh H14.01.01 | #&
D|1|0] 0|8 |{EHREa%#E HO5 30 4 | R13.12.31 | BEIE | A#fRdrtioh H14.01.01 [ &%
D|1|0] 0|8 |{EHREa%#E HO6 30 4 | R13.12.31 | BEIE | A#fRdrtioh H14.01.01 [ &%
Dl 1]0[0]|8|{THBEIREE HO7 30 4E | R13.12.31 | JBEIE | ARt i H14.01.01 | &
D|1|0] 0|8 |{EHREa%#E HO8 30 4 | R13.12.31 | BEIE | A#fRdrtioh H14.01.01 [ &%
D|1|0] 0|8 |{EHREa%E HO09 30 4 | R13.12.31 | BEIHE | A#fRdrtioh H14.01.01 [ &%
D|1|0] 0|8 |{EHREa%E H10 30 4 | R13.12.31 | BEIHE | A#fRdrtioh H14.01.01 [ &%
D[ 1]0[0]8|{EHBERE H11 30 4F | R13.12.31 | BEZE |AHRbrtwh H14.01.01 | &
D|1]0[0]8 MBI H12 30 4F | R13.12.31 | BEZE |AHRtrtwh H14.01.01 | &
D| 1| 0[0[8|{F:HEIR#% H13 30 4 | R13.12.31 | BEIHE | A#tRartioh H14.01.01 [ &%
D|1]0[0]8 MBI H14 30 4F | R14.12.31 | BEZE |AHRbrtwh H15.01.01 | &
D|1]0[0]8 MBI H15 30 4F | R15.12.31 | BEZE |AHRtrtmh H16.01.01 | &
D|1]|0|o0[8|EHEIRR H16 30 4E | R16.12.31 | BEZE | Asimret b H17.01.01 | %
D|1]0fo0]|8|{THBIRE H17 30 42 | R17.12.31 | BEHE | Adeffret ol H18.01.01 | &
D|1]0fo0]|8|{THBIRE H18 30 45 | R18.12.31 | BEHE | Adffret ol H19.01.01 | &
D|1]|0|o0[8|EHEIRR H19 30 4 | R19.12.31 | BEZE | Asimret b H20.01.01 | %
D|1]0fo0]8|{FHBIRE H20 30 42 | R20.12.31 | BEHE | Adeffret ol H21.01.01 | &
D[ 1|0]|0]|8fEHREHR#E H21 30 4F | R21.12.31 | BEEE | AHRtrth H22.01.01 | #&
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All|2|o]| 1 |scE=RGAE R6 3 4 | R09.12.31 | BEHE [mmsrveiok| R06.01.01 | RO7.01.01 | #&
AlO| 1[0 1A XisEEFH S53 30 4 | R13.12.31 | BEZE |ewmssre b H14.01.01 [ &%
AlO| 1[0 1A XisEEFH S54 30 4F | R13.12.31 | BEHE |ewmissresot H14.01.01 [ &%




- YERK, PRAF IR | 6 T 1% | 77 | REWIE | B
% X 4y 12 i Z je . o

o % l: il V4 7 J ﬂi {%ﬁﬂ;ﬂaﬁﬁ TH @*ﬂ:% 1%7?@7)3)? ﬁzﬁjZE] @Eﬁﬁ *E}E:}IJ
Al 0 0 1 |AJT & Xl e % S56 30 4E | R13.12.31 | BgEHE |twmssvrxol H14.01.01 | #%
Al 0 0 1 |AJT & X e % S61 30 4E | R13.12.31 | BgEHE |twmssvrxol H14.01.01 | #%
Al 0 0 1 |AJT & Xl e % S63 30 4E | R13.12.31 | BEHE |twmssvrxol H14.01.01 | #%
Al 0 0 1 |AJT & Xl e % HO02 30 4E | R13.12.31 | BgEHE |Gwmssvrxol H14.01.01 | #%
Al 0 0 1 |AJT & Xl e % H05 30 4E | R13.12.31 | BEHE |twmssvrxol H14.01.01 | #%
Al 0 0 1 |AJT & Xl e % HO6 30 4F | R13.12.31 | BEHE |emsEsvexoh H14.01.01 | #%
Al 0 0 1 |AJT & Xl e % HO7 30 4F | R13.12.31 | FEHE |emss ook H14.01.01 | #%
Al 0 0 1 |AJT & Xl e % HO8 30 4F | R13.12.31 | BEHE |emsEsvexoh H14.01.01 | #%
Al 0 0 1 |AJT & Xl e % H09 30 4F | R13.12.31 | BEHE |emsEsve st H14.01.01 | #%
Al 0 0 1 |AJT & Xl e % H10 30 4F | R13.12.31 | BEHE |emsEsve st H14.01.01 | #%
Al 0 0 1 |AJT & Xl e % H11 30 4F | R13.12.31 | FEHE |emss ook H14.01.01 | #%
Al0 0| 1 [AJTHE XA e H14 30 4F | R14.12.31 | BEHE |ewmissrresol H15.01.01 | #%
Al0 0| 1 [AJTHE XA e H15 30 4£ | R15.12.31 | FE#E |emssvriol H16.01.01 | #%
Al0 0| 1 [AJTHE XA e H17 30 4£ | R17.12.31 | FE#E |emssvrsiol H18.01.01 | #&
Al0 0| 1 [AJTHE XA e H18 30 4F | R18.12.31 | BEHE |ewmisrresol H19.01.01 | #%
Al0 0| 1 [AJTHE XA e H19 30 4£ | R19.12.31 | FE#E |emssrrsiol H20.01.01 | #%
Al0 0| 1 [AJTHE XA H20 30 4F | R20.12.31 | FEHE |emssveaoh H21.01.01 | #&
Al0 0| 1 | AT X imEER H21 30 4F | R21.12.31 | FgHE |emssvoaoh H22.01.01 | #&
Al0 0| 1 | AT X imEER H22 30 4F | R22.12.31 | FEZHE |emsmsveior H23.01.01 | #%
Al0 0| 1 | AT X imEER H24 30 4E | R24.12.31 | BEZHE |ew=sxvrior| H24.01.01 [ H25.01.01 | #%
Al 0 0| 1 | AT XimEER H25 30 4E | R25.12.31 | BEZE |ewsxvrior| H25.01.01 [ H26.01.01 | #%
Al 0 0| 1 |=akBateik R04 34 | RO7.12.31 | BEZE |ewm=xvesor | R04.01.01 | R05.01.01 5




Wk a0 v alB e (RERREEIR gy | T | T
Alof4]0] 1 |&EEBEREE R05 3 4 | R08.12.31 | BEFE |emsxreior[ R05.01.01 | R06.01.01
Alof4]0] 1| &R R06 34 | R09.12.31 | BEFE |em=xreior[ R06.01.01 | RO7.01.01
Al0]8|0]1|H=EIZRE R06 1 4 | R0O7.12.31 | BEZFE |ewmsx+esor| R06.01.01 | R07.01.01
AlO[9] 0] 1 |EEEE R HO2 30 4= | R13.12.31 | BEHE |emsmsvrr ok H14.01.01
AlO[9]0] 1 |EEEER HO4 30 4= | R13.12.31 | BEHE |emsmsvr sk H14.01.01
Al0| 9]0 1 |EESER HO5 30 45 | R13.12.31 | BEZE |ewisrvcioh H14.01.01
Al0| 9]0 1 |EESER% H06 30 45 | R13.12.31 | BEIE |ewisrvcioh H14.01.01
Al0| 9|01 |EEISERE HO7 30 4F | R13.12.31 | BEZE |emssreiot H14.01.01
Al0| 9]0 1 |EESER HO8 30 45 | R13.12.31 | BEIE |ewisrvcioh H14.01.01
Al0| 9]0 1 |EESER H09 30 45 | R13.12.31 | BEZE |ewisrvcioh H14.01.01
Al0| 9]0 1 |EESER H12 30 45 | R13.12.31 | BEIE |ewisrvrioh H14.01.01
A0l 9|01 |EERISERE H13 30 45 | R13.12.31 | BEIE |emisrvcioh H14.01.01
A0l 9|01 |EERISER H14 30 45 | R14.12.31 | BEIE |emisrveioh H15.01.01
Al0] 9]0 1 |EESER H15 30 4F | R15.12.31 | BEHE |emsmsreion H16.01.01
A0l 9|01 |EERISER H16 30 45 | R16.12.31 | BEIE |emisrveioh H17.01.01
A0l 9|01 |EERISER H17 30 45 | R17.12.31 | BEEE |emisrveioh H18.01.01
Al0| 9|01 |EEISE R H18 30 4F | R18.12.31 | BEEE |emissrveiot H19.01.01
Al0| 9|0 1 |EEISE R H19 30 4F | R19.12.31 | BEEE |emissrreiot H20.01.01
A0l 9|01 |ERISERE H20 30 45 | R20.12.31 | BEIE |ewisveioh H21.01.01
Al0| 9|01 |EEISE R H21 30 4F | R21.12.31 | BEEE |emissrreiot H22.01.01
Al0| 9|01 |EEISE R H22 30 4F | R22.12.31 | BEEE |emissrveiot H23.01.01
Al0| 9|0 1 |EEISER H23 30 4F | R23.12.31 | BEHE |emissvexoh H24.01.01




AlO[9]0] 1 |EEEER H24 R24.12.31 | BEHE |emEsvexosk| H24.01.01 | H25.01.01
AlO[9] 0] 1 |EEEE R H25 R25.12.31 | BEHE |emEsvexor| H25.01.01 | H26.01.01
AlO[9]0] 1 |EEEER H26 R26.12.31 | BEHE |emEsvexor| H26.01.01 | H27.01.01
AlO[9] 0] 1 |EEEE R H27 R27.12.31 | BEHE |emEsvexor| H27.01.01 | H28.01.01
AlO[9]0] 1 |EEEER H28 R28.12.31 | BEHE |emEsvexvr| H28.01.01 | H29.01.01
A0 9]0 1 |EESE H29 R29.12.31 | BEHE |mmisveson| H29.01.01 [ H30.01.01
A0 9]0 1 |EESE H30 R30.12.31 | BEHE |mmsveson| H30.01.01 [ H31.01.01
AlO[9] 0] 1 |EESER RO1 R31.12.31 | FE#E |emssvrior| H31.01.01 | R02.01.01
A0 9]0 1 |EESE R02 R32.12.31 | BEHE |emsvesor| R02.01.01 [ R03.01.01
A0 9[0] 1 [EEEIGEHK RO3 R33.12.31 | BE#HE |emsvesor| R03.01.01 [ R04.01.01
A0 9[0] 1 [EEEIGEHK RO4 R34.12.31 | BEHE |emsveisor| R04.01.01 [ R05.01.01
Alo|9fo] 1 [&ERIGE R RO5 R35.12.31 | Bt |em=svexor| R05.01.01 | R06.01.01
Alo|9fo] 1 [&ERIGE R R06 R36.12.31 | Bt |em=svexor| R06.01.01 [ R0O7.01.01
D[3]0|0]1[##k & 2B H09 R13.12.31 | Gk [emssereson H14.01.01
D[3]0|0]1[###k & 2B H10 R13.12.31 | Gk [emsseresn H14.01.01
D[3]0|0]1[###k & 2B H11 R13.12.31 | Gk [emsseresn H14.01.01
D[3]0[0]1[##k &2 BRMHK H12 R13.12.31 | Gk [emsseresn H14.01.01
D[3]0[0]1[##k &2 BRMHK H13 R13.12.31 | Gk [emsseresn H14.01.01
D[3]0|0]1[##k &2 BRMHEK H14 R14.12.31 | Gk [emsseresn H15.01.01
D[3]0[0]1[##k &2 BRMH%K H15 R15.12.31 | Gk [emseresn H16.01.01
D[3]0|0]1[##k & EBRH% H16 R16.12.31 | Gk |[emseresn H17.01.01
D[3]0|0]1[##k &2 BRkK H17 R17.12.31 | Bk |emseresn H18.01.01




R E A n B wrmmpy | LS e | 7200 | RS RILD
D[ 3]0[0] 1 [k & B BILRHE H18 30 A% | R18.12.31 | Slffk |emisrvesio H19.01.01 | &
D[ 3]0[0] 1 [kHik- & B BILRHE H19 30 A% | R19.12.31 | Slffk |emisrveio H20.01.01 | &
D[ 3]0[0] 1 [k & B BILRHE H20 30 A% | R20.12.31 | Slffk |emisrveiol H21.01.01 | &
D[ 3]0[0] 1|k & B BILRFE H21 30 A% | R21.12.31 | Slffk |emsrveiol H22.01.01 | &
D[ 3]0[0] 1 [kHfk- & B BILRHE H22 30 AF | R22.12.31 | Slflk |emisrveio H23.01.01 | &
D|3[0] 0|1 [k & EBEItR% H23 30 4 | R23.12.31 | Sk |emmscreson H24.01.01 | %
D|3[0]0]| 1|k & EBIREH H24 30 4 | R24.12.31 | Bl |ewissrexor| H24.01.01 [ H25.01.01 [ #&
D|3[0] 0|1 [k & EBEItRM% H25 30 4 | R25.12.31 | Sk |emssresor| H25.01.01 [ H26.01.01 [ #&
D|3[0] 0|1 [k & EBItR#% 126 30 4 | R26.12.31 | Slfk |emssresor| H26.01.01 [ H27.01.01 [ #&
D|3[0] 0|1 [k & EBIREH H27 30 4 | R27.12.31 | Sk |emssresor| H27.01.01 [ H28.01.01 [ &
D|3[0] 0|1 [k & EBItR#% H28 30 4= | R28.12.31 | Sk |emssresor| H28.01.01 [ H29.01.01 [ &
D|3[0] 0|1 [k & E BIREH H29 30 4 | R29.12.31 | Sk |emssresor| H29.01.01 [ H30.01.01 [ &
D|3[0] 0|1 [k & E BIREH H30 30 4= | R30.12.31 | Sk |emssresor| H30.01.01 [ H31.01.01 [ &
D|3[0] 0|1 [k & E BIREH RO1 30 4 | R31.12.31 | Sk |emssresor| H31.01.01 [ R02.01.01 [ &
D|3[0] 0|1 [k & EBIREH R0O2 30 4 | R32.12.31 | Sk |emsxresor| R02.01.01 [ R03.01.01 [ &
D|3[0] 0|1 [k & E BIREH RO3 30 4= | R33.12.31 | Sk |emsxresor| R03.01.01 [ R04.01.01 [ &
D|3[0] 0|1 [/ & B BIREH R04 30 4 | R34.12.31 | 5k |emssresor| R04.01.01 [ R05.01.01 [ &
D|3[0] 0|1 [k & B BIREH R0O5 30 4 | R35.12.31 | 5k |emssresor| R05.01.01 [ R06.01.01 [ &
D|3[0]0]| 1|k & B BIREH R06 30 4 | R36.12.31 | Flfk |emsxresor| R06.01.01 [ R0O7.01.01 [ &
D| 3| 0|07 |&5%E% Himtk S54 30 4 | R13.12.31 | Sk |emsmscreson H14.01.01 | #&%
D|3| 0|0 7|&%5%E% Himik S55 30 4F | R13.12.31 | Blfk |emssreiot H14.01.01 | #&%
D|3[0] 0|7 |28 % iRt H14 30 | R14.12.31 | Bk |emssretor H15.01.01 | #&




R E A n B wrmmpy | LS e | 7200 | RS RILD
D[ 3] 0|07 |55 %Rt H15 30 4% | R16.12.31 | Slffk |emsrveiol H16.01.01 | &
D3] 0|07 |55 %Rt H16 30 4% | R16.12.31 | Slffk |emsrveio H17.01.01 | &
D3] 0|07 |55 %Rt H17 30 A% | R17.12.31 | Slflk |emsrveio H18.01.01 | &
D[ 3] 0|07 |55 %Rt H18 30 A% | R18.12.31 | Slffk |emisrvesio H19.01.01 | &
D|3[0] 0|7 |ZLEE TRk H19 30 4F [ R19.12.31 | Blfk |emscreo H20.01.01 [ &%
D|3[1]0]1|FEHmnk HO8 30 4 | R13.12.31 | Sk |emsscrezon H14.01.01 | %%
D|3[1]0]1|FEHmnk H09 30 4 | R13.12.31 | Sk |emsscreson H14.01.01 | %%
D3] 1|0]1|F&EmEE H10 30 AF | R13.12.31 | Blfk |emzsveion H14.01.01 | &
D3] 1|0] 1| H11 30 AF | R13.12.31 | Blfk |emzsveion H14.01.01 | &
D3] 1|0]1|F&EmEE H12 30 AF | R13.12.31 | Blfk |emzsveion H14.01.01 | &
D3] 1|0] 1| H13 30 AF | R13.12.31 | Blfk |emsveion H14.01.01 | &
D|3| 1|01 |FEBu# H14 30 4 | R14.12.31 | Sk |emsscrezon H15.01.01 | %
D|3| 1|01 |FEBEu# H15 30 4 | R15.12.31 | Sk |emmscrezon H16.01.01 | %
D|3| 1|01 |FEBEu# H16 30 4 | R16.12.31 | Sk |emmsrezon H17.01.01 | #%
D|3| 1|01 |FEBEu# H17 30 4 | R17.12.31 | Sk |emmsrezon H18.01.01 | &
D|3| 1|01 |FEBEu HI18 30 4 | R18.12.31 | Sk |emmscrezon H19.01.01 | %
D|3| 1|01 |FEBEus H19 30 4 | R19.12.31 | Sk |emsmscrezon H20.01.01 | #&%
D|3| 1|01 |FEBEus H20 30 4 | R20.12.31 | Sk |emsmscrezon H21.01.01 | %%
D3] 1|0]1|F&EEmEE H21 30 4 | R21.12.31 | BIfk |emssveion H22.01.01 | &
D|3| 1|0 1|Z=EMms H22 30 4 | R22.12.31 | Bk |emsEsretor H23.01.01 | #&%
D|3[1]0]1|=HBkE H23 30 4 | R23.12.31 | Sk |emsmscrezon H24.01.01 | %%
D3] 1|0] 1Bk H24 30 4F | R24.12.31 | Blk |ems=rreror | H24.01.01 | H25.01.01 | %%




IR A S S B wrmmpy | LS e | 7200 | RS RILD
D|3 0 1| FBms H25 30 4 | R25.12.31 | Blfk |emservesor [ H25.01.01 | H26.01.01 | A%
D|3 0 1| FB s H26 30 4 | R26.12.31 | Blfk |emserveior [ H26.01.01 | H27.01.01 | A&
D|3 0 1| FBms H27 30 45 | R27.12.31 | Blfk |ewmserveror [ H27.01.01 | H28.01.01 | &
D|3 0 1| =&t visk H28 30 4% | R28.12.31 | Sl |ewisxrexor| H28.01.01 [ H29.01.01 [ #&
D|3 0 1 |SF&stviss H29 30 4% | R29.12.31 | Flffk |ewssvexor| H29.01.01 [ H30.01.01 [ #&
D| 3 0| 1 [F&BILH H30 30 4E | R30.12.31 | Bl |emseresor| H30.01.01 | H31.01.01 | %%
D[ 3 0 1| FHm s RO1 30 4% | R31.12.31 | Blfk |em=rvesor[ H31.01.01 | R02.01.01 | &
D[ 3 0 1| FHBm s R02 30 4% | R32.12.31 | Blfk |em=xveror[ RO2.01.01 | R0O3.01.01 | &
D[ 3 0 1| FHm s RO3 30 4E | R33.12.31 | 2Bl |emssreior| R03.01.01 | R0O4.01.01 | %%
D| 3 0| 1[BBG R04 30 4E | R34.12.31 | Bl |emssresor| R04.01.01 | R05.01.01 | %%
D| 3 0| 1[BBG R05 30 4E | R35.12.31 | Bl |emssresor| R05.01.01 | R06.01.01 |  #%
D[3[1]|0]1|FHHuE R06 30 4F | R36.12.31 | Sk [em=rresor| R06.01.01 | RO7.01.01 |  #&
D|3 0| 6 |[EZRAH E i BUE RS IR H27 10 4E | RO7.12.31 | BezE |emsrvexor | H27.01.01 | H28.01.01 | %
D|3 0| 6 |[EZRAH E i BIE RS IR H28 10 4E | R08.12.31 | BezE |emsrrexor| H28.01.01 | H29.01.01 | %%
D|3 0| 6 |[EZRAH E fi BUE RS IR H29 10 4E | R09.12.31 | BezE |emsrrexor| H29.01.01 | H30.01.01 | %%
D|3 0| 6 |[EZRAH E fi BUE RS IR H30 10 4E | R10.12.31 | BezE |emsrrexor | H30.01.01 | H31.01.01 | %&
D|3 0| 6 |[EZRAH E i BUE PR RO1 10 4 | R11.12.31 | BE3E |emsrvesor| H31.01.01 | R02.01.01 | #%
D|3 0| 6 |[EZRAH E i BUE PR R0O2 10 4F | R12.12.31 | BEHE |emsrvesor| R02.01.01 | R03.01.01 | #%
D| 3| 1|06 |EZRAEE fmeh kR RO3 10 4F | R13.12.31 | BEZE |emi==vesor[ RO3.01.01 [ RO4.01.01 [ &%
D|3 0| 6 |[EZRAH E i BUE PR RO4 10 4F | R14.12.31 | BEHE |emsrveaor| R04.01.01 | R05.01.01 | #%
D|3 0| 6 |[EZRAH E i BUE PSR RO5 10 4F | R15.12.31 | BEZE |em=xvexor[ R05.01.01 [ R06.01.01 | &
D|3 0| 6 |EZR A E fi BUE PR R06 10 4F | R16.12.31 | BEHE |emsrveaor| R06.01.01 | RO7.01.01 | #%




I A B wrmmpy | LS e | 7200 | RS RILD
D| 3| 1]|0]| 7| "FAA R RRES R0O2 5 4E [ RO7.12.31 | Bg#E |emsxresor| R02.01.01 | RO3.01.01 |  #E
D| 3| 1]|0]| 7| "FAA KRR RO3 5 4£ | R08.12.31 | Bg#E |emsxresor| R03.01.01 | R0O4.01.01 |  #E
D| 3| 1]|0]| 7| "FAA R RRES RO4 5 4£ [ R09.12.31 | Bg#E |emsxresor| R04.01.01 | R05.01.01 |  #&
D| 3| 1] 0] 7| FAA R ERES R05 5 4F | R10.12.31 | Bg#E |emsxresor| R05.01.01 | R06.01.01 |  #E
D| 3| 1]|0]| 7| "FAA R RRES R06 5 4E [ R11.12.31 | Bg#E |emsxresor| R06.01.01 | RO7.01.01 |  #E
D3] 1|09 |&#efEd- 5 A B RERER RO4 34 | R07.12.31 | Blfk |ewservesor| R04.01.01 | R05.01.01 | %
D3] 1|09 |&#efEd- 5 A B RELRE R05 3 4 | R08.12.31 | Blfk |ewservesor| RO5.01.01 | R06.01.01 | %
D3] 1|09 |&#efEd- 5 A B RERER R06 34 | R09.12.31 | Blfk |ewservesor| R06.01.01 | RO7.01.01 | %
D3] 1| 1] 7| E=ZEFEBERE RO4 34 | RO7.12.31 | Hlfk |eméxrvexor| R04.01.01 [ R05.01.01 | %
D3] 1| 1] 7| E=ZEFEBERE R05 34 | R08.12.31 | Hlfk |emérvexor| R05.01.01 [ R06.01.01 | %
D3] 1| 1] 7| E=ZEFEBERE R06 34 | R09.12.31 | Hlfk |eméxrvexor| R06.01.01 [ RO7.01.01 | %
D| 3| 1] 2|2 |EIzkl4 2L RELRH R04 34 | R07.12.31 | BEHE |emsrvesor| R04.01.01 | R05.01.01 |  #&
D| 3| 1] 2|2 |EIzkl4 2L RELRH RO5 3 % | R08.12.31 | BEHE |emsx+cior| R05.01.01 | R06.01.01 |  #&
D| 3| 1] 2|2 |EIzkl4 2L EELRH R06 3 4 | R09.12.31 | BEHE |emsx+cior| R06.01.01 | RO7.01.01 |  #&
D|3[2]0]| 1|5 ERRH S59 30 4 | R13.12.31 | BEHE |ewmmsre b H14.01.01 | #%
D|3[2]0]| 1|5 ERRH S62 30 4 | R13.12.31 | BEHE |ewmmsre b H14.01.01 | #%
D|3[2]0]| 1|85 ERRH S63 30 4 | R13.12.31 | BEZHE |ewmssre b H14.01.01 | #&%
D| 3| 2|01 |8hEsteERaRkE HO1 30 4F | R13.12.31 | BEHE |ewissreiot H14.01.01 | #&%
D| 3| 2|01 |8hEst Rz HO4 30 4F | R13.12.31 | BEHE |ewissreiot H14.01.01 | #&%
D|3[2]0]| 1|85 ERRH HO5 30 4 | R13.12.31 | BEZE |ewmssre b H14.01.01 | #&%
D|3[2]0]| 1|85 ERRHE H06 30 4 | R13.12.31 | BEZE |ewmssre b H14.01.01 | #&%
D|3[2]0]| 1|85 ERRHE HO7 30 - | R13.12.31 | BEFE |wmissre ok H14.01.01 [ &%




kR N7 w B wrmmpy | LS e | 7200 | RS RILD
D|3[2]0]| 1|5 ERIRH HO8 30 4F | R13.12.31 | BEZE |emaserexol H14.01.01 | #&
D3] 2|0 1|8 EERIRE HO09 30 4F | R13.12.31 | BEZE |emsaserexol H14.01.01 | #&
D|3[2]0]|1|#h&H IR H10 30 4F | R13.12.31 | BEHE |emsaserexol H14.01.01 | #&
D|3[2]0]| 1|5 ERIRE H11 30 4F | R13.12.31 | BEZE |emsaserexol H14.01.01 | #&
D|3[2]0]| 1|5 ERIRE H14 30 4F | R14.12.31 | BEZE |emsaserexol H15.01.01 | #&
D|3[2]0]| 1|5 R H15 30 4F | R15.12.31 | BEFE |emsrveiob H16.01.01 | &
D|3[2]0]| 1|5 ERRH H16 30 4£ | R16.12.31 | BEFE |emscreioh H17.01.01 | &
D|3[2]0]| 1|5 R H17 30 4E | R17.12.31 | BEFE |emsereiob H18.01.01 | %
D|3[2]0]| 1|5 ERIRH H18 30 4£ | R18.12.31 | BEFE |emscrrioh H19.01.01 | &
D|3[2]0]| 1|5 ERRH H19 30 4F | R19.12.31 | BEFE |emsrveiob H20.01.01 | &
D|3[2]0]| 1|5 ERIRH H20 30 4F | R20.12.31 | BEFE |emsmrveiob H21.01.01 | &
D| 3| 2|0 1|88 eERaR#E H21 30 4 | R21.12.31 | BEHE |ewmmsre b H22.01.01 | %
D| 3| 2|0 1|88 eERaR#E H22 30 4E | R22.12.31 | BEHE |ewissveiot H23.01.01 | &
D| 3| 2|0 1|88 eERaR#E H23 30 45 | R23.12.31 | BEHE |ewmmsre b H24.01.01 | #%
D| 3| 2|0 1|88 eERaR#E H24 30 4 | R24.12.31 | BEHE |emssxreioh| H24.01.01 [ H25.01.01 [ &
D| 3| 2|0 1|88 eERaR#E H25 30 4E | R25.12.31 | pesE |emsrveror| H25.01.01 | H26.01.01 |  #%
D|3[2]0]| 1|85 ERRH 126 30 4 | R26.12.31 | BEZE |ewmsreioh| H26.01.01 [ H27.01.01 [ #&
D| 3| 2|01 |8hEsteERaRkE H27 30 4 | R27.12.31 | BEZE |ewsreior| H27.01.01 [ H28.01.01 [ &
D| 3| 2|01 |8hEst Rz H28 30 4 | R28.12.31 | BEZE |ewsreioh| H28.01.01 [ H29.01.01 [ &
D| 3| 2|01 |8hEstERaR#E H29 30 4 | R29.12.31 | BEZE |ewsreior| H29.01.01 [ H30.01.01 [ &
D3] 2|0 1|8h#H ERRLE H30 30 4 | R30.12.31 | BEFE |emsrveaor| H30.01.01 | H31.01.01 | #%
D|3[2]0]| 1|85 ERRHE RO1 30 4F | R31.12.31 | BE#E |emmsvesor| H31.01.01 | R02.01.01 | #%




Wk a0 v alB e (RERREEIR gy | T | T
D| 3|20 1|&h#siERERE R02 30 45 | R32.12.31 | BEZE |ewmsxvcior[ R02.01.01 | R03.01.01
D| 3|20 1|&h#siERaRE RO3 30 45 | R33.12.31 | BEZE |ewmsxvrsor[ R03.01.01 | R04.01.01
D| 3|20 1|&h#sERaRE RO4 30 45 | R34.12.31 | BEZE |ewmisxvciob[ R04.01.01 | R05.01.01
D| 3| 2|0 1|&h#sieERaRE R05 30 45 | R35.12.31 | BEZE |ewmsxvcior[ R05.01.01 | R06.01.01
D| 3|20 1|&h#siERaRE R06 30 45 | R36.12.31 | BEZE |ewmsxvcior[ R06.01.01 | R07.01.01
Al 22| 0|6 |/EfEtinE B Rk H27 10 4 | R0O7.12.31 | BEZE |amssrvexor| H27.01.01 | H28.01.01
Al 22| 0|6 |/EfEtnE B Rk H28 10 4E | R08.12.31 | BgZE |emsvesor| H28.01.01 | H29.01.01
Al 2] 2] 0|6 |/EfEtnE B Rk H29 10 4E | R09.12.31 | BgZE |emsrvesor| H29.01.01 | H30.01.01
Al 2| 2| 0] 6 |/EAHEdEE BRI H30 10 4 | R10.12.31 | BEFE |emsrvetor [ H30.01.01 | H31.01.01
Al 2| 2| 0] 6 |/EAHEdEE B MR RO1 10 4 | R11.12.31 | BEFE |emsrvetor [ H31.01.01 [ R02.01.01
Al 2| 2| 0] 6 |/EAHEdEE BRI R0O2 10 4 | R12.12.31 | BEFE |emsrvexor[ R02.01.01 [ RO3.01.01
Al 2] 2]0][ 6 |/EfEHusdE E B AR RO3 10 4 | R13.12.31 | BEHE |emsrveiob| R03.01.01 | R04.01.01
Al 2| 2]0] 6 |/EA: s & BfRFH RO4 10 4 [ R14.12.31 | PBEHE |emsrrexor| R0O4.01.01 | R05.01.01
Al 2] 2]0][ 6 |/EfEHusdE E B AR R05 10 4 | R15.12.31 | BEHE |emsrveiob| R05.01.01 | R06.01.01
Al 2] 2]0][ 6 |/EfEHusdE E B AR R06 10 4 | R16.12.31 | BEHE |emsrveiob| R06.01.01 | R07.01.01
D| 3] 2] 0] 6|EZRIRBEIFREE RO4 34 | RO7.12.31 | pEZE |emssrvesn | R04.01.01 | R05.01.01
D| 3| 2] 0|6 |EFIKMEAGRK R05 34F | R08.12.31 | BEZE |em#xvesor [ R05.01.01 | R06.01.01
D|3[2]0]| 6 |EFIKMBAGRK R06 34 [ R09.12.31 | BEZE |em#xvesor [ R06.01.01 | R07.01.01
D| 3| 2|0 7|8FeE LR R0O2 54 | R07.12.31 | BEHE |emsxrexor| R02.01.01 | R03.01.01
D| 3| 2|0 7|8FE MR RO3 54 | R08.12.31 | BEHE |emsxrexor| R03.01.01 | R04.01.01
D| 3| 2|0 7|8FeE MR R04 54 | R09.12.31 | BEHE |ewsxrexor| R0O4.01.01 | R05.01.01
D| 3| 2|0 7|8FeEBLraMRm RO5 54 | R10.12.31 | BEHE |emsxrexor| R05.01.01 | R06.01.01




IR Y n B wrmmpy | LS e | 7200 | RS RILD
D[ 3|2 0|7 |%h#E R R06 5 4E [ R11.12.31 | Bg#E |emsxresor| R06.01.01 | RO7.01.01 |  #&
D|3|4|0|1|a%EANEREIE HO7 30 4F [ R13.12.31 | Blfk (M N H14.01.01 | %
D|3|4|0|1|a%EANEREIE Ho8 30 4F [ R13.12.31 | Blfk (M N H14.01.01 | %
D|3|4|0]1|A%ENEHREIE H09 30 4F | R13.12.31 | Blfk (M N H14.01.01 [ %
D|3|4|0]1|a%EANEREIE H10 30 4F [ R13.12.31 | Blfk (M N H14.01.01 | %
D340 1|AIENEEENR H11 30 45 | R13.12.31 | Blfk (M FEE H14.01.01 [ #%
D| 3|40 1|AENEREENR H12 30 4 | R13.12.31 | Sk |Hh T & H14.01.01 [ #%
D340 1|AIENEEENR H13 30 4 | R13.12.31 | Sk |Hh & H14.01.01 [ #%
D|3[4]0|1|ARENEHEEMR H14 30 4F | R14.12.31 | Blfk (M~ H15.01.01 | #%
D|3[4]|0|1|ARIENEHEEMRE H15 30 4F [ R15.12.31 | Blfk (M FEEE H16.01.01 | %
D340 1|AENEEENR H16 30 45 | R16.12.31 | Blfk (M~ EE H17.01.01 [ #%
D|3|4|0|1|AIENERE H17 30 4 | R17.12.31 | Sk |HhF & H18.01.01 | &
D|3|4|0f1|AIENERE HI18 30 4 | R18.12.31 | Sl |Hh T & H19.01.01 | %
D|3[4]0|1|ARIENEHER H19 30 4 | R19.12.31 | Sk |Hh & H20.01.01 | %
D|3[4]0|1|ARIENEHER H20 30 4 | R20.12.31 | Sk |Hh T & H21.01.01 | %
D|3[4]0|1|ARIENEHER H21 30 4 | R21.12.31 | Sk |Hh & H22.01.01 | %
D|3|4|0|1|AENEEEIE H22 30 4F | R22.12.31 | Slfk |HiFEE H23.01.01 | #&%
D|3|4|0|1|AIENERENR H23 30 4 | R23.12.31 | 5k |HhFEE H24.01.01 | #&%
D[3]4|0]1|AKENEHRSE H24 30 47 | R24.12.31 | Slfk |#FFEE | H24.01.01 | H25.01.01 | #K
D|3[4]0]|2|A%IENBIRR H09 30 4 | R13.12.31 | BEZE |Hh FEJE H14.01.01 | #&%
D|3[4]0]|2|A%IENBRR H10 30 4 | R13.12.31 | BEZE |Hh &K H14.01.01 | #&%
D|3|4|0][2|a%kik ABEMRK HI11 30 4F | R13.12.31 | B3 |Hi T EE H14.01.01 | #&%
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D3] 4| 0]2|AiENBIRE H12 30 45 | R13.12.31 | BEZE |HhFEE H14.01.01 | &
D3] 4|0]2|AiENBIREE H13 30 45 | R13.12.31 | BEZE |Hh FEE H14.01.01 | &
D3] 4| 0]2|AiENBIRE H14 30 45 | R14.12.31 | BEZE |HhFEE H15.01.01 | &
D3] 4|0]2|AiENBIREE H15 30 45 | R15.12.31 | BEZE |HhFEE H16.01.01 | &
D3] 4| 0]2|AiENBIRE H16 30 45 | R16.12.31 | BEZE |Hh T EE H17.01.01 | &
D|3[4]0]|2|A%&IENBIRR H17 30 4 | R17.12.31 | BE3E |Mh T & H18.01.01 | %
D|3[4]0]|2|A%&iENBIRR HI18 30 4 | R18.12.31 | BE3E |Mh T & H19.01.01 | %
D|3[4]0]|2|A%&IENBIRR H19 30 4 | R19.12.31 | BE3E |Mh T & H20.01.01 | %
D|3[4]0]|2|A%&iENBIRR H20 30 4 | R20.12.31 | BEFE |Mh T H21.01.01 | %
D|3[4]0]|2|A%&IENBIRR H21 30 4 | R21.12.31 | BE3E |Mh T & H22.01.01 | %
D|3|4|0][ 2|k ANBERE H22 30 45 | R22.12.31 | PEZE (M FEJE H23.01.01 | %
D|3[4]0]|2|A%IENBIRR H23 30 4= | R23.12.31 | BEHE |Mhp & H24.01.01 | #%
D|3]4|0] 2|k NBIRRE H24 30 4 | R24.12.31 | BEZE |MUF3EFE | H24.01.01 | H25.01.01 |  #&
D|3[4]0]|2|A%IENBIRR H25 30 4% | R25.12.31 | BEHE ML EE | H25.01.01 [ H26.01.01 [ #%
D|3[4]0]|2|A%IENBIRR 126 30 42| R26.12.31 | BEHE ML EE | H26.01.01 [ H27.01.01 [ #%
D|3[4]0]|2|A%IENBIRR H27 30 42 | R27.12.31 | BEHE MU EE | H27.01.01 [ H28.01.01 [ %
D|3[4]0]|2|A%IENBIRRE H28 30 4F | R28.12.31 | BEHE |M NEJE | H28.01.01 | H29.01.01 | #X
D|3[4]0]|2|A%IENBIRRE H29 30 4F | R29.12.31 | BEHE |M NEE | H29.01.01 | H30.01.01 | #X
D|3]4|0] 2|tk N\BIREE H30 30 4 | R30.12.31 | BEFHE |emmsvresor| H30.01.01 | H31.01.01 | #K
D|3]4|0] 2|tk N\BIREE RO1 30 4 | R31.12.31 | BEFHE |emmsvesor| H31.01.01 | R02.01.01 | #K
D[ 3[4]0]2|A%iENBRE R0O2 30 4F | R32.12.31 | BEFE |em=rvexor| R02.01.01 [ R03.01.01 | %
D|3[4]0]|2|A%8IENBIFREK RO3 30 4 | R33.12.31 | BEZE |emms+reaor| R03.01.01 | R04.01.01 | #%




N A N gy R BTE| g | 7t | R |0
D[ 3] 4| 0] 2|t ANBEFRE R04 30 4F | R34.12.31 | BEIE |emsxreior[ R04.01.01 | R05.01.01 [ &
D3] 4|0]2|AiENBIREE R05 30 4F | R35.12.31 | BEFE |emsxreior| R05.01.01 | R06.01.01 [ &
D3] 4| 0]2|AiENBIRE R06 30 4F | R36.12.31 | BEIE |emsxrcior| R06.01.01 | RO7.01.01 [ &
D| 3| 4| 0] 3 [IMEAEANZIBBSBUR RZHEH H10 30 4F | R13.12.31 | B3 [Hh T~ & H14.01.01 | &
D| 3| 4| 0] 3 [MEAEANZIBBSBUR R H11 30 4F | R13.12.31 | B3 [Hh T~ &= H14.01.01 | &%
D| 3| 4|03 [METENZETBRUSIUR RS H12 30 4 | R13.12.31 | BE3E |Mh T & H14.01.01 [ #%
D| 3| 4|03 [METENZETBRBUSIUR RS H13 30 4 | R13.12.31 | BE3E |Mh T & H14.01.01 [ #%
D| 3| 4|03 [METENZETBERUSEUR RS H14 30 4 | R14.12.31 | BE3E |Mh T & H15.01.01 | #%
D| 3| 4|03 [METENZETBRBUSEBUR RS H15 30 4 | R15.12.31 | BE3E |Mh T & H16.01.01 [ %
D| 3| 4|03 [METENZETBERBUSIUR RS H16 30 4 | R16.12.31 | BE3E |Mh T & H17.01.01 | &
D| 3| 4|03 [METENZETBRUS IR RS H17 30 4 | R17.12.31 | BE3E |Mh T & H18.01.01 | %
D| 3| 4|03 [METENZETERBUSIUR RS H18 30 4 | R18.12.31 | BEHE |MhF & H19.01.01 | %
D| 3| 4|0 3 [METEANZETERBUSIUR RS H19 30 4 | R19.12.31 | BE3E |MhF & H20.01.01 | %
D| 3| 4|03 [METENZETERBUSIUR RS H20 30 4 | R20.12.31 | BEHE |MhF & H21.01.01 | %
D| 3| 4|0 3 [METEANZETERBUSIUR RS H21 30 4 | R21.12.31 | BE3E |MhF & H22.01.01 | %
D| 3| 4|03 [METENZETERBUSIUR RS H22 30 4 | R22.12.31 | BEHE |Mh & H23.01.01 | &
D|3(4]0]|3|MEIENETEHBUSBUR RS H23 30 4 | R23.12.31 | BEZE |Hh N EJE H24.01.01 | #&%
D|3(4]0]|3|EIVENETEHBUSBUR R % H24 30 4F | R24.12.31 | BEHE |M NEE | H24.01.01 | H25.01.01 | #X
D| 3| 4|0[4|tEiENSREEE B B # PR i H10 30 4F | R13.12.31 | B |Hb N & H14.01.01 | #&%
D| 3| 4|04 |tEiENSREEE B B # PR i H11 30 4F | R13.12.31 | Bz |Hb N EE H14.01.01 | #&%
D| 3| 4|04 |EiENSRREE B B H PR i H12 30 4F | R13.12.31 | B3 |HbFEE H14.01.01 | #&%
D| 3| 4] 0] 4 |HHIENSEIRIRE B 8 PR =65 H13 30 4F | R13.12.31 | B3 |Hi T EE H14.01.01 | #&%




LI W= A S B wrmmpy | LS e | 7200 | RS RILD
D| 3| 4|0[4|HFENSRREE B B H PR i H14 30 4F | R14.12.31 | BE3E |Mh T & H15.01.01 | %
D| 3| 4|0][4|HHiENSGEREEE B B H PR i H15 30 4F | R15.12.31 | BE3E |Mh T & H16.01.01 [ &
D| 3| 4|0[4|HHiENSGRREE B B H PR ik H16 30 4F | R16.12.31 | BE3E |Mh T & H17.01.01 | %
D| 3| 4|0[4|HHiENSREEE B B H 2B i H17 30 4F | R17.12.31 | BE3E |Mh T & H18.01.01 | &
D| 3| 4|0][4|HFiENSRREE B B H PR ik H18 30 4F | R18.12.31 | BE3E |Mh T & H19.01.01 | %
D| 3| 4|0][4|HHiENSREEE B B H PR i H19 30 4 | R19.12.31 | BE3E |Mh T & H20.01.01 | %
D| 3| 4|0[4|HHiENSRREE B B H PR i H20 30 4 | R20.12.31 | BEFE |Mh T H21.01.01 | %
D| 3| 4|0][4|HHiENSREEE B B H PR i H21 30 4 | R21.12.31 | BE3E |Mh T & H22.01.01 | %
D| 3| 4|0][4|HHiENSREEE B B H PR i H22 30 4 | R22.12.31 | BEFE |Mh T & H23.01.01 | %
D| 3| 4|0][4|HHiENSREEE B B H PR i H23 30 4 | R23.12.31 | BE3E |Mh T & H24.01.01 | %
D| 3| 4|0[4|HHiENSREEE B B H PR i H24 30 4 | R24.12.31 | BEHE MU TFEE | H24.01.01 [ H25.01.01 [ %
D| 3| 4|05 |[MEENGEIRAZ @ L2 i H11 30 4 | R13.12.31 | BE3E |MhF & H14.01.01 | #%
D| 3| 4|05 |[MEENGEIRAZ @ L2 i H12 30 4 | R13.12.31 | BE3E |MhF & H14.01.01 | #%
D| 3| 4|05 |[MEENGEIRAZ @ L2 i H13 30 4 | R13.12.31 | BE3E |MhF & H14.01.01 | #%
D| 3| 4|05 |[MEENSEIRAZ @ L2 i H14 30 45 | R14.12.31 | PEZE (M FEE H15.01.01 | %
D| 3| 4|05 |[MEENSEIRAZ @ L2 i H15 30 4 | R15.12.31 | BE3E |MhF & H16.01.01 | %
D| 34|05 |[MEiENSEIRAS B L2 i H16 30 4 | R16.12.31 | BEZE |Hh &K H17.01.01 | #&%
D| 3| 4] 0|5 |[/MHIENFEIRAZ @ Z 2 =% H17 30 4 | R17.12.31 | BEZE |Hh N &K H18.01.01 | #&%
D| 3| 4|05 |[MEENSERAS B L2 i H18 30 4 | R18.12.31 | BEZE |Hh F&JE H19.01.01 | #&%
D| 3| 4|05 |[MEiENSEIRAS B L2 i H19 30 4 | R19.12.31 | BEZE |Hh N EJE H20.01.01 | #&%
D| 3| 4|05 |[MEENGIRAS B L2 i H20 30 4 | R20.12.31 | BEZE |Hh &K H21.01.01 | #&%
D|3|4|0][5 |[MEENSERAS B L 2 i H21 30 4 | R21.12.31 | BEZE | FEE H22.01.01 | #&%




IR A S S B wrmmpy | LS e | 7200 | RS RILD
D|3 (4] 0|5 |[MENENBEIRAZ 82 4 % H22 30 4F | R22.12.31 | BE3E |Mh T & H23.01.01 | %
D|3[4]0]|5 |[MENEN BR824 % H23 30 4F | R23.12.31 | BE3E |Mh T & H24.01.01 | %
D| 3| 4|0|5 |[MEENGEIRAZ B L 2=k H24 30 4F [ R24.12.31 | pE%E MU FNEJE | H24.01.01 | H25.01.01 | #X
D| 3| 4| 0|6 |tERHENSEURBAALE A =4 HI1 30 4F | R13.12.31 | BE3E |Mh T & H14.01.01 [ %
D|3[4]0][ 6 |[t:HNEN BEIRPILE G2 H12 30 4F | R13.12.31 | BE3E |Mh T & H14.01.01 | %
D| 3| 4|0][ 6 |HEENSEBRBILES = H13 30 4 | R13.12.31 | BE3E |Mh T & H14.01.01 [ #%
D|3[4]0][ 6 |f:HNEN BEIRPILE G2 H14 30 45 | R14.12.31 | PEZE (M FEE H15.01.01 [ #%
D| 3| 4] 0] 6 |*EFAEANSEIRBLILE G 6% H15 30 £ | R15.12.31 | PEZE (M FEE H16.01.01 [ %
D| 3| 4] 0] 6 |*EFAEASEIRBLILE G 6% H16 30 4 | R16.12.31 | PEZE (M FEJE H17.01.01 [ #%
D| 3| 4] 0] 6 |*EFAEANSERIRBLILE G 6% H17 30 4 | R17.12.31 | BEZE (M FEE H18.01.01 [ #%
D| 3| 4] 0] 6 |*EFAEASEIRBLILE G 6% H18 30 45 | R18.12.31 | PEZE (M FEJE H19.01.01 [ #%
D| 3| 4] 0] 6 |*EFAEA R EIRBAILE G 2% H19 30 45 | R19.12.31 | PE#E (Hh FEJE H20.01.01 [ #%
D| 3| 4] 0] 6 |*EEAE A REIRBAILE G 2% H20 30 45 [ R20.12.31 | PEZE (Hh FEJE H21.01.01 [ #%
D| 3| 4] 0] 6 |*EFE A REIRBAILE & % H21 30 45 | R21.12.31 | PE#E (Hh FEE H22.01.01 [ #%
D| 3| 4|0][ 6 |t:EENSBIRBLES H22 30 45 | R22.12.31 | PE#E (Hh FEJE H23.01.01 | &
D| 3| 4] 0] 6 |*EFAEA R EIRBAILE G 5% H23 30 45 | R23.12.31 | PE#E (Hh FEE H24.01.01 [  #%
D|3[4]0][6 |[fEENEN BEURBIILE &8 H24 30 4 | R24.12.31 | BEZE |MUNEE | H24.01.01 [ H25.01.01 [ #&
D| 3| 4|07 |*hETEN S BURE R i H11 30 4F | R13.12.31 | B3 |HiFEfE H14.01.01 [ #%
D| 3| 4|07 |*hETEN S BURE R i H12 30 4F | R13.12.31 | B3 |Hi & H14.01.01 [ #%
D| 3| 4|07 |*hETEN S BURE R i H13 30 4F | R13.12.31 | B3 |Hi & H14.01.01 [ #%
D| 3| 4|07 |tEREN SEUREfEE = iE H14 30 4F | R14.12.31 | B3 |Hi T &) H15.01.01 [ #%
D| 3| 4] 0|7 |HFEA R BUREE T =% H15 30 4F | R15.12.31 | B3 |Hi T EE H16.01.01 | #&%




IR A S S B wrmmpy | LS e | 7200 | RS RILD
D| 3[40 7 |FEEIE N G EURE 2 = f5 H16 30 4F | R16.12.31 | BE3E |Mh T & H17.01.01 | %
D| 3[40 7 |FEEIE N G EURE 2 = k5 H17 30 4F | R17.12.31 | BE3E |Mh T & H18.01.01 | &
D| 3[40 7 |FEEIE N G EURE 2 = f5 HI18 30 4F | R18.12.31 | BE3E |Mh T & H19.01.01 | %
D| 3[40 7 |FEEIE N G EURE 2 = f5 H19 30 4F | R19.12.31 | BE3E |Mh T & H20.01.01 | %
D| 3[40 7 |F:EIE N G EUIRE 2 = f5 H20 30 4F | R20.12.31 | BE3E |Mh T & H21.01.01 | %
D| 3| 4] 0|7 |[*ERAZE NS BUR R 3E hF% H21 30 £ | R21.12.31 | PEZE (M FEEE H22.01.01 [ #%
D| 3| 4|07 |tEREN S BURE R =i H22 30 4F | R22.12.31 | B3 M F & H23.01.01 [  #%
D| 3| 4] 0|7 |[*ERAE AR BUR R 3 h6% H23 30 45 | R23.12.31 | PEZE (M FEE H24.01.01 [ #%
D| 3[40 7 |FEEIE N B EURE 5 = f H24 30 47 | R24.12.31 | BEFE MU TFEME | H24.01.01 [ H25.01.01 [ #&
D| 3| 4|08 [MEENSIIREE A B H12 30 4 | R13.12.31 | BE3E |Mh T & H14.01.01 [ #%
D| 3| 4|08 [MEENSIIREE A B H13 30 4 | R13.12.31 | BE3E |Mh T & H14.01.01 [ #%
D| 3| 4|0|8[MEENSIIREE A B H14 30 4 | R14.12.31 | BE3E |MhF & H15.01.01 | %
D| 3| 4|0|8[MEENSIIREE A B H15 30 4 | R15.12.31 | BE3E |MhF & H16.01.01 | %
D| 3| 4|0|8[MEENSIIREE A B H16 30 4 | R16.12.31 | BE3E |MhF & H17.01.01 | #%
D| 3| 4|0|8[MEENSIIREE A B H17 30 4 | R17.12.31 | BE3E |MhF & H18.01.01 | &
D| 3| 4|0|8[MEENSIIREE A B H18 30 4 | R18.12.31 | BEHE |MhF & H19.01.01 | %
D| 3[4 0|8 [MEHENSEIREE A B4 H19 30 4 | R19.12.31 | BEZE |Hh FEJE H20.01.01 | #&%
D| 3[4 0|8 [MEHENSEIREE A B4 H20 30 4 | R20.12.31 | BEZE |Hh FEJE H21.01.01 | #&%
D|3(4]0|8[MEHENSEIREE BB H21 30 4 | R21.12.31 | BEZE |Hh FEJE H22.01.01 | #&
D|3(4]0|8[MEHENSEIREE BB H22 30 4 | R22.12.31 | BEZE |Hh FEJE H23.01.01 | #&%
D|3(4]0|8[MEENBEIREE A B H23 30 4 | R23.12.31 | BEZE |Hh &K H24.01.01 | #&%
D| 3[4 0|8 [MENENKEIREE A B3 H24 30 4F | R24.12.31 | BEZE |MFEJE | H24.01.01 | H25.01.01 | #%
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LI w B wrmmpy | LS e | 7200 | RS RILD
A0 0 | 6 |fl i EEh% HO09 30 4F | R13.12.31 | BEFE |emisrveiol H14.01.01 | &
A0 0 | 6 |1l EEf% H10 30 4F | R13.12.31 | BEFE |emisrveiol H14.01.01 | &
A0 0 | 6 |fl i EEh% H11 30 4F | R13.12.31 | JBEFE |emisrveiol H14.01.01 | &
A0 0 | 6 |fl i EEf% H12 30 4F | R13.12.31 | JBEFE |emsrveiol H14.01.01 | &
A0 0 | 6 |fl i EEh% H13 30 4F | R13.12.31 | JBEFE |emisrveiol H14.01.01 | &
A0 0| 6 [ R H14 30 A5 | R14.12.31 | BEZE |ewmisrvcioh H15.01.01 | &
A0 0| 6 [ R H15 30 A | R15.12.31 | BEIE |emxveioh H16.01.01 | &
A0 0| 6 [ R H16 30 A | R16.12.31 | BEIE |emxveioh H17.01.01 | &
Al 0| 1] 0] 6B mEER H17 30 4F | R17.12.31 | BEZE |emsmcreior H18.01.01 [ #%
A0 0| 6 [ R H18 30 AF | R18.12.31 | BEIE |emxveioh H19.01.01 | &
A0 0| 6 [ R H19 30 AF | R19.12.31 | BEIE |emxveioh H20.01.01 | &
Al o 0 | 6 |l % H20 30 4F | R20.12.31 | BEIE |emxveioh H21.01.01 | &
Al o 0 | 6 |l % H21 30 4F | R21.12.31 | BEIE |emsxveioh H22.01.01 | &
Al0 0 | 6 |51l % H22 30 4F | R22.12.31 | BEIE |emsxreiob H23.01.01 | &
Al o 0 | 6 |l % H23 30 4F | R23.12.31 | BEIE |emsxveioh H24.01.01 | &
Al o 0 | 6 |l % H24 30 4 | R24.12.31 | BEFE |em=rvesor [ H24.01.01 | H25.01.01 | &
Al o 0 | 6 |l % H25 30 4 | R25.12.31 | BEHE |emmsresor| H25.01.01 | H26.01.01 | #K
Al o 0 | 6 |l % H26 30 4 | R26.12.31 | BEFHE |emmsvesor| H26.01.01 | H27.01.01 | #K
Al o 0 | 6 |l % H27 30 4 | R27.12.31 | BEFE |emmsvresor| H27.01.01 | H28.01.01 | #K
Al o 0 | 6 |l % H28 30 4 | R28.12.31 | BEFHE |emmsresor| H28.01.01 | H29.01.01 | #K
Alo|1|o0]6|BHmEER H29 30 4F | R29.12.31 | BEHE |ewissveior| H29.01.01 | H30.01.01 |  #%
D|3 0f1[iEmEIR 524 30 4F | R13.12.31 | BEHE |ewmissresot H14.01.01 [ &%




WK 5 B e |ROESIIENELR ) g | 7200 | AT
D[3|3|0]1[|EmHEIE S25 30 45 | R13.12.31 | BEZE |emisrvrioh H14.01.01
D[3|3|0]1[|EmHEIE S27 30 45 | R13.12.31 | BEZE |emisrvrioh H14.01.01
D[3|3|0]1]|EmHEiIE 528 30 45 | R13.12.31 | BEZE |emisrvtioh H14.01.01
D[3|3|0]1|EmHEiIE S29 30 45 | R13.12.31 | BEZE |ewmisrvtioh H14.01.01
D[3|3|0]1]|EmHEiIE S30 30 45 | R13.12.31 | BEZE |emisrvtioh H14.01.01
D[3]|3[0]|1[EmEE S31 30 AF | R13.12.31 | BEIE |emxveioh H14.01.01
D[ 33|01 [|EmHEE S32 30 AF | R13.12.31 | BEIE |emxveioh H14.01.01
D|3[3]0[1[EsHmE S33 30 AF | R13.12.31 | BEIE |emxveioh H14.01.01
D[ 33|01 [ERHEE S34 30 AF | R13.12.31 | BEIE |emxveioh H14.01.01
D|3[3]0[1[EsHmE S35 30 AF | R13.12.31 | BEFE |emxveioh H14.01.01
D|3[3]0[1[EsHmE S36 30 A | R13.12.31 | BEIE |emxveioh H14.01.01
D|3[3]01[iEmBEME S37 30 4F | R13.12.31 | BEIE |emxveioh H14.01.01
D|3[3]01[iEmBEME S38 30 4F | R13.12.31 | BEIE |emxveioh H14.01.01
D|3[3]01[iEmBEME S39 30 4F | R13.12.31 | BEIE |emxveioh H14.01.01
D|3[3]01[iEmBEME S40 30 4F | R13.12.31 | BEIE |emsxveioh H14.01.01
D|3[3]01[iEmBEME S41 30 4F | R13.12.31 | BEIE |emsxveioh H14.01.01
D|3|3[0f1[EHEIE S42 30 4 | R13.12.31 | BEZHE |ewmssre b H14.01.01
D|3|3[0f1[EHEIE S43 30 4 | R13.12.31 | BEHE |ewmssre b H14.01.01
D|3|3[0f1[EHEIE S44 30 4 | R13.12.31 | BEZE |ewmssre b H14.01.01
D|3|3[0f1[EHEIE S45 30 4 | R13.12.31 | BEZE |ewmssre b H14.01.01
D|3|3[0|1[EHEE S46 30 4 | R13.12.31 | BEZE |ewmssre b H14.01.01
D|3|3[0f|1[iESEE S47 30 4F | R13.12.31 | BEHE |ewmissresot H14.01.01




WK 5 B e |ROESIIENELR ) g | 7200 | AT
D|3[3]0f1[|EmHEmE S48 30 45 | R13.12.31 | BEZE |emisrvrioh H14.01.01
D|3[3]0f1[|EmHmE 549 30 45 | R13.12.31 | BEZE |emisrvrioh H14.01.01
D|3[3]0f1[|EmHEmE S50 30 45 | R13.12.31 | BEZE |emisrvtioh H14.01.01
D|3[3]0f1[|EmHmE S51 30 45 | R13.12.31 | BEZE |ewmisrvtioh H14.01.01
D|3[3]0f1[|EsHmE S52 30 45 | R13.12.31 | BEZE |emisrvtioh H14.01.01
D|3[3]0[1[EsHmE S53 30 AF | R13.12.31 | BEIE |emxveioh H14.01.01
D[ 33|01 [|EmHEE S54 30 AF | R13.12.31 | BEIE |emxveioh H14.01.01
D|3[3]0[1[EsHmE S55 30 AF | R13.12.31 | BEIE |emxveioh H14.01.01
D|3[3]0[1[EsHmE S56 30 AF | R13.12.31 | BEIE |emxveioh H14.01.01
D[3]|3[0]|1[EmEE S57 30 AF | R13.12.31 | BEFE |emxveioh H14.01.01
D|3[3]0[1[EsHmE S58 30 A | R13.12.31 | BEIE |emxveioh H14.01.01
D|3[3]01[iEmBEME S59 30 4F | R13.12.31 | BEIE |emxveioh H14.01.01
D|3[3]01[iEmBEME S60 30 4F | R13.12.31 | BEIE |emxveioh H14.01.01
D|3[3]01[iEmBEME S61 30 4F | R13.12.31 | BEIE |emxveioh H14.01.01
D|3[3]01[iEmBEME S62 30 4F | R13.12.31 | BEIE |emsxveioh H14.01.01
D|3[3]01[iEmBEME S63 30 4F | R13.12.31 | BEIE |emsxveioh H14.01.01
D[ 33|01 |EmHEE HO1 30 4 | R13.12.31 | BEFE |emssveiob H14.01.01
D[ 33|01 |EmHEE HO02 30 4 | R13.12.31 | BEFE |emsveioh H14.01.01
D|3|3[0f1[EHEIE HO3 30 4F | R13.12.31 | BEHE |ewmissveiot H14.01.01
D[ 33|01 |EmHEE H04 30 4 | R13.12.31 | BEFE |emssveioh H14.01.01
D|3|3[0|1[EHEE HO5 30 4 | R13.12.31 | BEZE |ewmssre b H14.01.01
D|3|3[0f|1[iESEE HO6 30 4F | R13.12.31 | BEHE |ewmissresot H14.01.01




WK 5 B e |ROESIIENELR ) g | 7200 | AT
D[3|3|0]1[|EmHEIE HO7 30 45 | R13.12.31 | BEZE |emisrvrioh H14.01.01
D[3|3|0]1[|EmHEIE HO8 30 45 | R13.12.31 | BEZE |emisrvrioh H14.01.01
D[3|3|0]1]|EmHEiIE HO09 30 45 | R13.12.31 | BEZE |emisrvtioh H14.01.01
D[3|3|0]1|EmHEiIE H10 30 45 | R13.12.31 | BEZE |ewmisrvtioh H14.01.01
D[3|3|0]1]|EmHEiIE H11 30 45 | R13.12.31 | BEZE |emisrvtioh H14.01.01
D|3[3]0[1[EsHmE H12 30 AF | R13.12.31 | BEIE |emxveioh H14.01.01
D|3[3]0[1[iEmBEMK H13 30 4F | R13.12.31 | BEFE |emsrveiob H14.01.01
D|3[3]0[1[EsHmE H14 30 A | R14.12.31 | BEIE |emxveiob H15.01.01
D|3[3]0[1[EsHmE H15 30 AF | R15.12.31 | BEIE |emxveioh H16.01.01
D|3[3]0[1[EsHmE H16 30 A | R16.12.31 | BEIE |emxveioh H17.01.01
D|3[3]0[1[EsHmE H17 30 AF | R17.12.31 | BEIE |emxveioh H18.01.01
D|3[3]01[iEmBEME H18 30 4F | R18.12.31 | BEIE |emsxveioh H19.01.01
D|3[3]01[iEmBEME H19 30 4F | R19.12.31 | BEIE |emsxveioh H20.01.01
D|3[3]01[iEmBEME H20 30 4F | R20.12.31 | BEIE |emxveioh H21.01.01
D|3[3]01[iEmBEME H21 30 4F | R21.12.31 | BEIE |emsxveioh H22.01.01
D|3[3]01[iEmBEME H22 30 4F | R22.12.31 | BEIE |emxveioh H23.01.01
D|3|3[0f1[EHEIE H23 30 4 | R23.12.31 | BEHE |ewmsreioh 124.01.01
D|3|3[0f1[EHEIE H24 30 4F | R24.12.31 | BEHE |em=wreiob| H24.01.01 | H25.01.01
D|3|3[0f1[EHEIE H25 30 4F | R25.12.31 | BEHE |emswredob| H25.01.01 | H26.01.01
D|3|3[0f1[EHEIE 126 30 4F | R26.12.31 | BEHE |em=wredob| H26.01.01 | H27.01.01
D|3|3[0|1[EHEE H27 30 4F | R27.12.31 | BEHE |em=wresob| H27.01.01 | H28.01.01
D|3|3[0f|1[iESEE H28 30 4F | R28.12.31 | BEZE |ewmizsrexor [ H28.01.01 | H29.01.01




D|3]3]0 H29 R29.12.31 | BEHE |emsrvexor| H29.01.01 | H30.01.01
D|3]3]0 H30 R30.12.31 | BEFE |emsrvexor | H30.01.01 | H31.01.01
D|3]3]0 H31 R31.12.31 | BEFE |emsrvexor [ H31.01.01 [ R02.01.01
D|3]3]0 RO1 R31.12.31 | BEFE |emsrvexor | H31.01.01 [ R02.01.01
D|3]3]0 R0O2 R32.12.31 | BEFE |emsrvexor[ R02.01.01 | R03.01.01
D[3]3]0 RO3 R33.12.31 | BEHE |emzxvexok| R03.01.01 | R04.01.01
D[3]3]0 R04 R34.12.31 | BEHE |emzxvexok| R04.01.01 | R05.01.01
D[3]3]0 R05 R35.12.31 | BEHE |emzxvexok| R05.01.01 | R06.01.01
D[3]3]0 R06 R36.12.31 | BEHE |emzxvexok| R06.01.01 | R07.01.01
D|3|3|0f2 S31 R13.12.31 | BE3E |emssveioh H14.01.01
D|3]|3[0f2 S32 R13.12.31 | BE3E |emsmsveioh H14.01.01
D|3]3]0]2 $33 R13.12.31 | FEZE |emmsveion H14.01.01
D|3]3]0]2 S34 R13.12.31 | FEZE |emmsveion H14.01.01
D|3]3]0]2 S35 R13.12.31 | FEZE |emmsveion H14.01.01
D|3]3]0]2 S36 R13.12.31 | FEZE |emmsveion H14.01.01
D|3]3]0]2 S37 R13.12.31 | FEZE |emmsveion H14.01.01
D|3]3]0]2 S38 R13.12.31 | BEZE |Gwmiservexoh H14.01.01
D|3]3]0]2 S39 R13.12.31 | BEZE |Gwmiservexoh H14.01.01
D|3]3]0]2 S40 R13.12.31 | BEZE |ewmiservexoh H14.01.01
D|3]3]0]2 S41 R13.12.31 | FEZE |emmsveion H14.01.01
D|3]3]0]2 S42 R13.12.31 | FEZE |emmsveoh H14.01.01
D|3]3]0]2 S43 R13.12.31 | BEZHE |emissrveioh H14.01.01




WK 5 B e |ROESIIENELR ) g | 7200 | AT
D|3[3]0]2 S44 30 4E | R13.12.31 | BEHE [Gmissvesiol H14.01.01
D|3[3]0]2 545 30 4E | R13.12.31 | BEHE [Gmissvesol H14.01.01
D|3[3]0]2 546 30 4E | R13.12.31 | BEHE [Gmissveiol H14.01.01
D|3[3]0]2 547 30 4E | R13.12.31 | BEHE [Gmissvisol H14.01.01
D|3[3]0]2 548 30 4E | R13.12.31 | BEHE [Gmissvisol H14.01.01
D]3[3]0]2 549 30 4E | R13.12.31 | BEHE |emssveioh H14.01.01
D]3[3]0]2 550 30 4E | R13.12.31 | BEHE |emssvcioh H14.01.01
D]3[3]0]2 551 30 4E | R13.12.31 | BEHE |emssveioh H14.01.01
D]3[3]0]2 S5h2 30 4E | R13.12.31 | BEHE |emssvsioh H14.01.01
D]3[3]0]2 553 30 4E | R13.12.31 | BEHE |emssveioh H14.01.01
D]3[3]0]2 Sh4 30 4E | R13.12.31 | BEHE |emssvsioh H14.01.01
D[3]3|0]2 555 30 4F | R13.12.31 | BEFE |emssreioh H14.01.01
D[3]3|0]2 556 30 4F | R13.12.31 | BEFE |emssreioh H14.01.01
D[3]3|0]2 557 30 4F | R13.12.31 | BEFE |emssreioh H14.01.01
D[3]3|0]2 558 30 4F | R13.12.31 | BEFE |emssreiosh H14.01.01
D[3]3|0]2 559 30 4F | R13.12.31 | BEFE |emssreiosh H14.01.01
D[3]3|0]2 560 30 4= | R13.12.31 | BEZE |emismsveioh H14.01.01
D]3[3]0]2 561 30 4F | R13.12.31 | BEHE |emsscrioh H14.01.01
D]3[3]0]2 562 30 4F | R13.12.31 | BEHE |emsscrioh H14.01.01
D[3]3|0]2 563 30 4= | R13.12.31 | BEZE |emiEsveioh H14.01.01
D]3[3]0]2 HO1 30 4F | R13.12.31 | BE3E |emsscrioh H14.01.01
D[3]3|0]2 HO2 30 4F | R13.12.31 | BE3E |wmidsrve ot H14.01.01




WK 5 B e |ROESIIENELR ) g | 7200 | AT
D|3[3]0]2 HO3 30 4E | R13.12.31 | BEHE [Gmissvesiol H14.01.01
D|3[3]0]2 HO04 30 4E | R13.12.31 | BEHE [Gmissvesol H14.01.01
D|3[3]0]2 HO5 30 4E | R13.12.31 | BEHE [Gmissveiol H14.01.01
D|3[3]0]2 HO6 30 4E | R13.12.31 | BEHE [Gmissvisol H14.01.01
D|3[3]0]2 HO7 30 4E | R13.12.31 | BEHE [Gmissvisol H14.01.01
D]3[3]0]2 HO8 30 4F | R13.12.31 | BEFE |emsstreiosh H14.01.01
D]3[3]0]2 HO09 30 4F | R13.12.31 | BEFE |emssreioh H14.01.01
D]3[3]0]2 H10 30 4F | R13.12.31 | BEFE |emsstreiosh H14.01.01
D]3[3]0]2 H11 30 4F | R13.12.31 | BEFE |emssreioh H14.01.01
D]3[3]0]2 H12 30 4F | R13.12.31 | BEFE |emssreioh H14.01.01
D]3[3]0]2 H13 30 4F | R13.12.31 | BEFE |emssreioh H14.01.01
D[3]3|0]2 H14 30 4F | R14.12.31 | BEFE |emssreiosh H15.01.01
D[3]3|0]2 H15 30 4F | R15.12.31 | BEFE |emssreioh H16.01.01
D[3]3|0]2 H16 30 4F | R16.12.31 | BEFE |emssreioh H17.01.01
D[3]3|0]2 H17 30 4F | R17.12.31 | BEFE |emssreioh H18.01.01
D[3]3|0]2 H18 30 4F | R18.12.31 | BEFE |emssreish H19.01.01
D[3]3|0]2 H19 30 4= | R19.12.31 | BEZE |emissveioh H20.01.01
D[3]3|0]2 H20 30 4= | R20.12.31 | BEZE |wmimsveioh H21.01.01
D[3]3|0]2 H21 30 4= | R21.12.31 | BEZE |emiEsveioh H22.01.01
D[3]3|0]2 H22 30 4= | R22.12.31 | BEZE |emismsveioh H23.01.01
D[3]3|0]2 H23 30 A= | R23.12.31 | BEZE |tmissveioh H24.01.01
D[3]3|0]2 H24 30 A | R24.12.31 | BEFIE |emsxvexor| H24.01.01 | H25.01.01




WK 5 B e |ROESIIENELR ) g | 7200 | AT
D[ 3]3|0]2|fFHiEEAIE H25 30 45 | R25.12.31 | BEZE |ewmsxveior [ H25.01.01 | H26.01.01
D|3]3|0]2 H26 30 4F | R26.12.31 | BEZE |emswresor| H26.01.01 | H27.01.01
D|3]3|0]2 H27 30 4F | R27.12.31 | BEZE |emswresor| H27.01.01 | H28.01.01
D|3|3|0]2 H28 30 4F | R28.12.31 | BEZE |emswresor| H28.01.01 | H29.01.01
D|3]3|0]2 H29 30 4F | R29.12.31 | BEZE |emiswresor| H29.01.01 | H30.01.01
D|3]3]0]2 H30 30 4F | R30.12.31 | BEFE |emseresor [ H30.01.01 | H31.01.01
D|3]3]0]2 H31 30 4F | R31.12.31 | BEFE |emsswvesor [ H31.01.01 | R02.01.01
D|3]3]0]2 RO1 30 4F | R31.12.31 | BEFE |emsswvesor [ H31.01.01 | R02.01.01
D|3]3]0]2 R0O2 30 4F | R32.12.31 | BEFE |emssresor[ R0O2.01.01 | R03.01.01
D|3]3]0]2 RO3 30 4F | R33.12.31 | BEFE |emssvesor[ R0O3.01.01 | R04.01.01
D|3]3]0]2 R04 30 4F | R34.12.31 | BEFE |emswveior[ R04.01.01 | R05.01.01
D|3]3]0]2 R05 30 4F | R35.12.31 | BEFE |emssvesor[ R05.01.01 | R06.01.01
D|3]3]0]2 R06 30 4F | R36.12.31 | BEFE |emsswvesor[ R06.01.01 | R0O7.01.01
D|3]3]0]3 S29 30 4F | R13.12.31 | BEHE |emsmcreior H14.01.01
D|3]3]0]3 S30 30 4F | R13.12.31 | BEHE |emsmcreior H14.01.01
D|3]3]0]3 S31 30 4F | R13.12.31 | BEHE |emsmcreior H14.01.01
D|3]3]0]3 S32 30 4 | R13.12.31 | BEIE |emssrvetoh H14.01.01
D|3]3]0]3 S33 30 4 | R13.12.31 | BEIE |emssrvexoh H14.01.01
D|3]3]0]3 S34 30 4 | R13.12.31 | BEIE |emssrvexoh H14.01.01
D|3]3]0]3 S35 30 4 | R13.12.31 | BEIE |emssrvetoh H14.01.01
D|3]3]0]3 S36 30 4F | R13.12.31 | BEIE |ewasrveioh H14.01.01
D|3]3]0]3 S37 30 4F | R13.12.31 | BEIE |awmissrvtioh H14.01.01




Wk a0 v alB e (RERREEIR gy | T | T
D|3[3]0]|3|&BRSEAEIH S38 30 45 | R13.12.31 | BEZE |emisrvrioh H14.01.01
D[ 3]3|0]3|SEURSH# S39 30 45 | R13.12.31 | BEZE |emisrvrioh H14.01.01
D[ 3] 3| 0] 3|SEURSH# 540 30 45 | R13.12.31 | BEZE |emisrvtioh H14.01.01
D[ 3]3|0]3|SEURSH# 541 30 45 | R13.12.31 | BEZE |ewmisrvtioh H14.01.01
D[ 3] 3| 0] 3|SEURSHp# S42 30 45 | R13.12.31 | BEZE |emisrvtioh H14.01.01
D[ 3]3|0]3|HEURSHI# S43 30 AF | R13.12.31 | BEIE |emxveioh H14.01.01
D|3[3]0]|3|&BURSEAH S44 30 AF | R13.12.31 | BEIE |emxveioh H14.01.01
D[ 3]3|0]3|HERSH# S45 30 AF | R13.12.31 | BEIE |emxveioh H14.01.01
D[ 3]3|0]3|HEURSH# S46 30 AF | R13.12.31 | BEIE |emxveioh H14.01.01
D|3[3]0]|3|&BURSEAIH S47 30 AF | R13.12.31 | BEFE |emxveioh H14.01.01
D[ 3]3|0]3|HEURSHI# S48 30 A | R13.12.31 | BEIE |emxveioh H14.01.01
D| 3|30 3|BHuRSpl S49 30 4 | R13.12.31 | BEHE |emsmsre b H14.01.01
D| 3|30 3| BB Spl S50 30 4 | R13.12.31 | BEHE |emsmsre b H14.01.01
D| 3|30 3| BB Spl S51 30 4 | R13.12.31 | BEHE |emssre b H14.01.01
D| 3|30 3| BB Spl S52 30 4 | R13.12.31 | BEHE |ewmmsre b H14.01.01
D| 3|30 3| BB Spl S53 30 4 | R13.12.31 | BEHE |ewmmsre b H14.01.01
D| 33|03 |&HRSEpl S54 30 4 | R13.12.31 | BEZHE |ewmssre b H14.01.01
D| 33|03 |&HRSEpl S55 30 4 | R13.12.31 | BEHE |ewmssre b H14.01.01
D| 33|03 |&HRSEpl S56 30 4 | R13.12.31 | BEZE |ewmssre b H14.01.01
D| 33|03 |&HRSEpl S57 30 4 | R13.12.31 | BEZE |ewmssre b H14.01.01
D| 3|30 3|&HRSpl S58 30 4 | R13.12.31 | BEZE |ewmssre b H14.01.01
D| 3|30 3|&HRSpl S59 30 4F | R13.12.31 | BEHE |ewmissresot H14.01.01




Wk a0 v alB e (RERREEIR gy | T | T
D|3[3]0]|3|&BRSEAEIH S60 30 45 | R13.12.31 | BEZE |emisrvrioh H14.01.01
D[ 3]3|0]3|SEURSH# S61 30 45 | R13.12.31 | BEZE |emisrvrioh H14.01.01
D[ 3] 3| 0] 3|SEURSH# S62 30 45 | R13.12.31 | BEZE |emisrvtioh H14.01.01
D[ 3]3|0]3|SEURSH# S63 30 45 | R13.12.31 | BEZE |ewmisrvtioh H14.01.01
D[ 3] 3| 0] 3|SEURSHp# HO1 30 45 | R13.12.31 | BEZE |emisrvtioh H14.01.01
D|3[3]0]|3|&BURSEAIH HO02 30 AF | R13.12.31 | BEIE |emxveioh H14.01.01
D[ 3]3|0]3|HEURSH# HO03 30 AF | R13.12.31 | BEIE |emxveioh H14.01.01
D|3[3]0]|3|&BURSEAH H04 30 AF | R13.12.31 | BEIE |emxveioh H14.01.01
D[ 3]3|0]3|HEURSH# HO05 30 AF | R13.12.31 | BEIE |emxveioh H14.01.01
D[ 3]3|0]3|HEURSH# HO06 30 AF | R13.12.31 | BEFE |emxveioh H14.01.01
D|3[3]0]|3|&BURSEAIH HO7 30 A | R13.12.31 | BEIE |emxveioh H14.01.01
D| 3|30 3|BHuRSpl HO8 30 4 | R13.12.31 | BEHE |emsmsre b H14.01.01
D| 3|30 3| BB Spl HO09 30 4 | R13.12.31 | BEHE |emsmsre b H14.01.01
D| 3|30 3| BB Spl H10 30 4 | R13.12.31 | BEHE |emssre b H14.01.01
D| 3|30 3| BB Spl H11 30 4 | R13.12.31 | BEHE |ewmmsre b H14.01.01
D| 3|30 3| BB Spl H12 30 4 | R13.12.31 | BEHE |ewmmsre b H14.01.01
D| 33|03 |&HRSEpl H13 30 4 | R13.12.31 | BEZHE |ewmssre b H14.01.01
D|3[3]0]|3|&BURSAIH H14 30 4 | R14.12.31 | BEIE |emssveioh H15.01.01
D| 33|03 |&HRSEpl H15 30 4 | R15.12.31 | BEHE |ewmssre b H16.01.01
D| 33|03 |&HRSEpl H16 30 4 | R16.12.31 | BEHE |wwmsre b H17.01.01
D| 3|30 3|&HRSpl H17 30 & | R17.12.31 | BEZE |ewmsre b H18.01.01
D| 3|30 3|&HRSpl H18 30 4F | R18.12.31 | BEHE |wmissreiot H19.01.01
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D|3[3]0]|3|&BRSEAEIH H19 30 4F | R19.12.31 | JBEFE |emisrveiol H20.01.01 | &
D[ 3]3|0]3|SEURSH# H20 30 4F | R20.12.31 | BEFE |emismrveiol H21.01.01 | &
D[ 3] 3| 0] 3|SEURSH# H21 30 4F | R21.12.31 | BEFE |emisrveiol H22.01.01 | &
D|3]3]|0] 3| &BUREp 122 30 4F | R22.12.31 | BEFE |emismrrero H23.01.01 | %
D[ 3] 3| 0] 3|SEURSHp# H23 30 4F | R23.12.31 | BEFE |emsrveiol H24.01.01 | &
D|3[3]0]|3|&BURSEAIH H24 30 4E | R24.12.31 | FEZE |ewserveror | H24.01.01 | H25.01.01 | #%
D|3]3]0] 3| &HURSpk H25 30 4F | R25.12.31 | BEZE |emiswvesor| H25.01.01 | H26.01.01 | #&
D|3]3]0] 3| &HURSmk 126 30 4F | R26.12.31 | BEFE |emswvesor| H26.01.01 | H27.01.01 | #&
D|3]3]0] 3| &HURSp H27 30 4F | R27.12.31 | BEZE |emswvesor| H27.01.01 | H28.01.01 |  #&
D|3]3]0] 3| &HURSmk H28 30 4F | R28.12.31 | BEZE |emswvesor| H28.01.01 | H29.01.01 |  #&
D|3]3]0] 3| &HURpk H29 30 4F | R29.12.31 | BEZE |emswvesor| H29.01.01 | H30.01.01 |  #E
D| 3|30 3|BHuRSpl H30 30 4= | R30.12.31 | BEHE |emssxrezoh| H30.01.01 [ H31.01.01 [ &
D| 3|30 3| BB Spl H31 30 4 | R31.12.31 | BEHE |emssxrezoh| H31.01.01 [ R02.01.01 [ &
D| 3|30 3| BB Spl RO1 30 4 | R31.12.31 | BEHE |emssxrezoh| H31.01.01 [ R02.01.01 [ &
D|3]3]|0] 3|&HREmkE R0O2 30 4F | R32.12.31 | B3 |emswvesor| R02.01.01 | R03.01.01 | #&
D| 3|30 3| BB Spl RO3 30 4= | R33.12.31 | BEHE |emsxrezoh| R03.01.01 [ R04.01.01 [ &
D|3]3]|0] 3| &mUREmkE RO4 30 4F | R34.12.31 | BEFE |em=rvexor| R04.01.01 [ R05.01.01 | %
D|3[3]0]|3|&BURSAIH R05 30 4 | R35.12.31 | BEFHE |emmsvesor| R05.01.01 | R06.01.01 | #K
D|3[3]0]|3|&BURSAEIH R06 30 4 | R36.12.31 | BEFHE |emEsvesob| R06.01.01 | RO7.01.01 | #K
D|3(3]0]|4|&BUREHI S33 30 45 | R13.12.31 | BEIE |emssveioh H14.01.01 | &
D|3(3]0]|4|&BUREHI S35 30 4 | R13.12.31 | BEIE |emissveioh H14.01.01 | &
D|3]3]0]4|SHURHRIRE S40 30 4F | R13.12.31 | BEIE |awmissrvtioh H14.01.01 | #%




IR Y n B wrmmpy | LS e | 7200 | RS RILD
D|3(3]0]|4|&BURHHI 541 30 4F | R13.12.31 | BEFE |emisrveiol H14.01.01 | &
D|3(3]0]|4|&BURHHIE S42 30 4F | R13.12.31 | BEFE |emisrveiol H14.01.01 | &
D|3(3]0]|4|&BURHHI 543 30 4F | R13.12.31 | JBEFE |emisrveiol H14.01.01 | &
D|3(3]0]|4|&BURHHI 545 30 4F | R13.12.31 | JBEFE |emsrveiol H14.01.01 | &
D|3(3]0]|4|&BURHHI 546 30 4F | R13.12.31 | JBEFE |emisrveiol H14.01.01 | &
D|3[3]0]|4|&BURHHI S47 30 4F | R13.12.31 | BEFE |emsrveiob H14.01.01 | &
D|3]3]0] 4| RHURER I S53 30 AF | R13.12.31 | BEIE |emxveioh H14.01.01 | &
D|3]3]0] 4 |SHURER I S55 30 AF | R13.12.31 | BEIE |emxveioh H14.01.01 | &
D|3]3]0] 4| RHURER I S56 30 AF | R13.12.31 | BEIE |emxveioh H14.01.01 | &
D|3]3]0] 4 |&BURHE IR S57 30 ££ | R13.12.31 | BEHE |emsereiot H14.01.01 [ #%
D|3]3]0] 4 |RHURER I S58 30 A | R13.12.31 | BEIE |emxveioh H14.01.01 | &
D|3(3]0]|4|&BURHEHI S60 30 4F | R13.12.31 | BEIE |emxveioh H14.01.01 | &
D|3(3]0]|4|&BURHEHI S61 30 4F | R13.12.31 | BEIE |emxveioh H14.01.01 | &
D|3(3]0]|4|&BURHEHI S63 30 4F | R13.12.31 | BEIE |emxveioh H14.01.01 | &
D|3(3]0]|4|&BURHEHI HO03 30 4F | R13.12.31 | BEIE |emsxveioh H14.01.01 | &
D|3(3]0]|4|&BURHEHI HO4 30 4F | R13.12.31 | BEIE |emsxveioh H14.01.01 | &
D|3|3]0][4|&BRH AR HO5 30 4 | R13.12.31 | BEZHE |ewmssre b H14.01.01 | #&%
D|3|3]0][4|&BRH AR HO7 30 4 | R13.12.31 | BEHE |ewmssre b H14.01.01 | #&%
D|3(3]0]|4|&BUREHI HO8 30 4 | R13.12.31 | BEIE |emssveioh H14.01.01 | &
D|3(3]0]|4|&BUREHI H12 30 45 | R13.12.31 | BEIE |emssveioh H14.01.01 | &
D|3(3]0]|4|&BUREHI H15 30 4 | R15.12.31 | BEIE |emssveioh H16.01.01 | &
D|3]3|0]4|REUEEHIFE H16 30 - | R16.12.31 | BEFHE |wmissre ok H17.01.01 | &
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D|3(3]0]|4|&BURHHI H17 30 4F | R17.12.31 | BEFE |emsrveiol H18.01.01 | &
D|3(3]0]|4|&BURHHIE H18 30 4F | R18.12.31 | JEFE |emisrveiol H19.01.01 | &
D|3(3]0]|4|&BURHHI H20 30 4F | R20.12.31 | BEFE |emisrveiol H21.01.01 | &
D|3(3]0]|4|&BURHHI H24 30 45 | R24.12.31 | BEZE |ewservrsor [ H24.01.01 | H25.01.01 | &
D|3(3]0]|4|&BURHHI H26 30 45 | R26.12.31 | BEZE |ewmseresor [ H26.01.01 | H27.01.01 | &
D|3]3]0] 4| BRI H29 30 4F | R29.12.31 | BEZE |emswvesor| H29.01.01 | H30.01.01 |  #E
D|3]3]0] 4| RHURER I H30 30 £ [ R30.12.31 | BEHE |ewssrcsor| H30.01.01 | H31.01.01 | #%
D| 3|3 1|1 |&s2muiT H02 30 4F | R13.12.31 | BEZE |emissereiot H14.01.01 | %
D| 3|3 1|1 |&s2muiT H03 30 4F | R13.12.31 | BEZE |emissereiot H14.01.01 | %
D| 3|3 1|1 |&s2muiT HO04 30 4F | R13.12.31 | BEZE |emssereiot H14.01.01 | %
D[ 3| 3| 1|1 /|&LMREITH H05 30 45 | R13.12.31 | BEZE |ewissvriot H14.01.01 [ #%
D| 3|3 1|1 |&s=muirE H06 30 4F | R13.12.31 | Bz |emmsveion H14.01.01 | #%
D| 3|3 1|1 |&s=muirE HO7 30 4F | R13.12.31 | Bz |emmsveion H14.01.01 | #%
D|3|3]| 1| 1| &%MREITH Ho8 30 4E | R13.12.31 | BEHE |ewissveiot H14.01.01 [ #%
D| 3|3 1|1 |&RmBsiT H09 30 4F | R13.12.31 | BEHE |emsmsrexoh H14.01.01 [ &%
D| 3|3 1|1 |&E@miTiE H10 30 4 | R13.12.31 | BEHE |ewmmsre b H14.01.01 | #%
D| 3|3 1|1 |&EmmiTiE H11 30 4F | R13.12.31 | BEHE |ewisscreiot H14.01.01 | #&%
D|3|3]1]1|EemisiTiE H12 30 4£ | R13.12.31 | JEIHE |amssrciot H14.01.01 [ &
D|3|3]1]1|EemisiTiE H13 30 4 | R13.12.31 | BEEE |emissvrioh H14.01.01 [ &
D| 3|3 1|1 |&EmmiTiE H14 30 4F | R14.12.31 | BEHE |ewisscreiot H15.01.01 | #&%
D33 1] 1|ZEfI3IT#E H15 30 4 | R15.12.31 | BEFE |emsveioh H16.01.01 [ &
D|3|3]|1]1|#58Mm3esTH H16 30 4F | R16.12.31 | BEIE |emasrvetoh H17.01.01 | #&




kR N7 w B wrmmpy | LS e | 7200 | RS RILD
D| 3|3 1] 1|Z2MmIeiT H17 30 4F | R17.12.31 | BEZE |emimereion H18.01.01 | #&
D| 3|3 1] 1|Z2MmIeiT H18 30 4F | R18.12.31 | BEZE |mmimeresiol H19.01.01 |  #&
D| 3|3 1] 1|Z2MmIeiT H19 30 4F | R19.12.31 | BEZE |emimeresiol H20.01.01 | &
D|3|3]|1]1|Z2MmIeiT H20 30 4F | R20.12.31 | BEZE |mmimereiol H21.01.01 |  #&
D|3|3]|1]1|Z2MmIeiT H21 30 4F | R21.12.31 | BEZE |emimereiol H22.01.01 | #&
D|3|3]1]1|Ze83tTi H22 30 4F | R22.12.31 | JBEHE |amssrrioh H23.01.01 | #K
D|3|3]|1]1|ZLmeiT H23 30 4F | R23.12.31 | FEZE |emmzveion H24.01.01 | %
D[ 3| 3| 1| 1| &LMIREITH H24 30 45 [ R24.12.31 | BEZE |ewimsrcior| H24.01.01 | H25.01.01 | #%
D| 3| 3| 1|1 /|&%LHWIEIT H25 30 45 [ R25.12.31 | BEHE |ewmsrcior| H25.01.01 | H26.01.01 | #%
D| 3| 3| 1|1 /|&%LHWIEIT 126 30 45 [ R26.12.31 | BEHE |ewssrcior| H26.01.01 | H27.01.01 | #%
D[ 3] 3| 1|2 [ATBFeikBafRx H11 30 4 | R13.12.31 | BEEFE |emmsrexoh H14.01.01 | &
D[ 3] 3| 1|2 |ATBFeikBatR H12 30 4E | R13.12.31 | JEIE |emsrveioh H14.01.01 | &
D[ 3|3 1|2 [ATBFeikBafR H13 30 4E | R13.12.31 | JEIE |emsrveioh H14.01.01 | &
D| 3| 3| 1|2 [ATE FHilkBarR#E H14 30 4 | R14.12.31 | BEHE |emssre b H15.01.01 | %
D[ 3|3 1|2 [ATBFeikBafR H15 30 4E | R15.12.31 | JEEE |emsrveioh H16.01.01 | &
D[ 3|3 1|2 [ATBFeikBafR H16 30 4E | R16.12.31 | JEIHE |emsrveioh H17.01.01 | &
D| 3| 3| 1|2 ATBFHilLBEtR#E H17 30 4F | R17.12.31 | BEHE |emsereiot H18.01.01 [ &%
D| 3| 3| 1|2 ATBFHilLBEtR#E H18 30 4F | R18.12.31 | BEHE |emswreiot H19.01.01 [ &%
D| 3| 3| 1|2 ATBFHilLBR#E H19 30 4F | R19.12.31 | FEHE |emswreiot H20.01.01 [ &%
D| 3| 3| 1|2 ATBFHilLBR#E H20 30 4F | R20.12.31 | BEHE |emsereiot H21.01.01 [ &%
D| 3| 3| 1| 2 [ATE FHoilkBatRE H21 30 4 | R21.12.31 | BEZE |ewmisre b H22.01.01 | #&%
D| 3| 3] 1|2 |ATBFheik Rtk H22 30 4 | R22.12.31 | BEFE |wwmimsre b H23.01.01 | &
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D| 3| 3] 1|2 |ATBFheisRatREs H27 30 45 | R27.12.31 | BEZE |ewseresor [ H27.01.01 | H28.01.01 | &
D| 3| 3] 1|2 |ATBFheisRatRes H28 30 45 | R28.12.31 | BEZE |ewserrsor [ H28.01.01 | H29.01.01 | &
D[ 3] 3| 1| 3| ERREE S55 30 4F | R13.12.31 | JBEFE |emisrveiol H14.01.01 | &
D[ 3] 3| 1| 3|#HERREE S56 30 4F | R13.12.31 | JBEFE |emsrveiol H14.01.01 | &
D[ 3] 3| 1| 3| ERREE S61 30 4F | R13.12.31 | JBEFE |emisrveiol H14.01.01 | &
D| 3| 3] 1| 3|tk HO1 30 4F | R13.12.31 | BEFE |emsrveiob H14.01.01 | &
D| 3| 3] 1| 3|tk HO02 30 4F | R13.12.31 | BEFE |emsrveiob H14.01.01 | &
D| 3| 3] 1| 3|tk HO4 30 4F | R13.12.31 | BEFE |emsrveiob H14.01.01 | &
D| 3| 3] 1| 3|tk HO06 30 4F | R13.12.31 | BEFE |emsrveiob H14.01.01 | &
D| 3| 3] 1| 3|tk HO8 30 4F | R13.12.31 | BEFE |emsrveiob H14.01.01 | &
D| 3| 3] 1| 3|tk H10 30 4F | R13.12.31 | BEFE |emsrveiob H14.01.01 | &
D[ 3] 3| 1] 3| EBRE H13 30 4F | R13.12.31 | BEIE |emxveioh H14.01.01 | &
D| 3| 3| 1| 3|wEpafa H14 30 4E | R14.12.31 | BEHE |ewissveiot H15.01.01 | %
D[ 3] 3| 1] 3| EBRE H15 30 4F | R15.12.31 | BEIE |emxveioh H16.01.01 | &
D[ 3] 3| 1] 3| EBRE H16 30 4F | R16.12.31 | BEIE |emxveioh H17.01.01 | &
D[ 3] 3| 1] 3| EBRE H18 30 4F | R18.12.31 | BEIE |emsxveioh H19.01.01 | &
D| 3| 3] 1| 3|tk H19 30 4 | R19.12.31 | BEIE |emssveioh H20.01.01 | &
D| 3|3 1| 3|EEfax H22 30 4F | R22.12.31 | BEHE |ewissvriot H23.01.01 | #&%
D| 3| 3] 1| 3|tk H23 30 4 | R23.12.31 | BEIE |emrveioh H24.01.01 | &
D| 3|3 1| 3|tEEafax H24 30 4 | R24.12.31 | BEZE |ewisreioh| H24.01.01 [ H25.01.01 [ &
D| 3|3 1| 3|EEafaz H25 30 4 | R25.12.31 | BEZE |ewsreior| H25.01.01 [ H26.01.01 [ &
D| 3| 3] 1| 3|tk H26 30 4 | R26.12.31 | BEZE |emmsreaor| H26.01.01 | H27.01.01 | #%
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D| 3| 3] 1|3 |tk H27 30 45 | R27.12.31 | BEZE |ewseresor [ H27.01.01 | H28.01.01 | &
D| 3| 3] 1|3 |tk H28 30 45 | R28.12.31 | BEZE |ewserrsor [ H28.01.01 | H29.01.01 | &
D| 3| 3] 1|3 |tk H29 30 45 | R29.12.31 | BEZE |ewseresor [ H29.01.01 | H30.01.01 | &
D| 3| 3] 1|3 |tk H30 30 45 | R30.12.31 | BEZE |ewseresor [ H30.01.01 | H31.01.01 | &
D| 3| 3] 1| 3|tk R02 30 45 | R32.12.31 | BEZE |ewserrsor[ R0O2.01.01 | R03.01.01 | &
D[ 3] 3| 1] 3| ERRE RO3 30 4% | R33.12.31 | BEFE |em=xvesor[ RO3.01.01 | R04.01.01 | &
D| 3] 3| 1] 3| ERRRE R04 30 4 | R34.12.31 | BEZE |emserveiob [ R04.01.01 | R05.01.01 | A%
D[ 3] 3| 1] 3| ERREE R05 30 4% | R35.12.31 | BEFE |em=xvesor[ R0O5.01.01 | R06.01.01 | %
D[ 3] 3| 1] 3| ERRLE R06 30 4 | R36.12.31 | BEFE |em=xvexor[ R06.01.01 | RO7.01.01 | &
D| 3| 3] 1|4 |FARAER H13 30 4F | R13.12.31 | BEHE |emsereiot H14.01.01 [ &%
D| 3| 3] 1|4 |FARAER H14 30 4F | R14.12.31 | BEHE |emsmsretoh H15.01.01 [ &%
D| 3| 3] 1|4 |FARAER H15 30 4F | R15.12.31 | BEHE |emsmsreion H16.01.01 | %
D| 3| 3] 1|4 |#ARAER H16 30 4E | R16.12.31 | BEHE |ewissreiot H17.01.01 | #%
D| 3| 3] 1|4 |#ARAER H17 30 45 | R17.12.31 | BEHE |ewissveiot H18.01.01 | &
D| 3| 3] 1|4 |#ARAER HI18 30 4E | R18.12.31 | BEHE |ewissvriot H19.01.01 | %
D| 3| 3] 1|4 |#ARAER H19 30 4E | R19.12.31 | BEHE |ewissveiot H20.01.01 | %
D| 3| 3] 1|4 |#AR1ER H20 30 4F | R20.12.31 | BEHE |emmsreioh H21.01.01 | #&%
D| 3| 3] 1|4 |#ARAER H21 30 4F | R21.12.31 | BEHE |emmsreion H22.01.01 | #&
D| 3| 3] 1|4 |#ARAER H23 30 4F | R23.12.31 | BEHE |emmsreion H24.01.01 | #&%
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